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Question Number : 1 Question Id : 6009641351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The errors associated with the measurement of electric current, resistance and time are 3%, 2% and
1% respectively. To calculate the heat generated in a wire carrying current | having resistance R, the
maximum percentage error will be

1.6%

2. 9%

3.3%

4. 8%
Options :
6009645401. 1
6009645402. 2

6009645403. 3
6009645404. 4

Question Number : 1 Question Id : 6009641351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 6%

2.9%

3. 3%

4. 8%
Options :
6009645401. 1
6009645402. 2

6009645403. 3
6009645404. 4

Question Number : 2 Question Id : 6009641352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A mass M is suspended by a light string from a rigid support. A force F is acting on the string as
shown in the figure and the string makes an angle 6 with vertical. Which of the following expressions
is correct?

DL~

1.TcosB=F
2.TsinB=Mg
3.F=Mgtan6
4.F=Ttanb

Options :

6009645405. 1
6009645406. 2
6009645407. 3
6009645408. 4

Question Number : 2 Question Id : 6009641352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1=

&
’ F
1.TcosB=F
2.TsinB=Mg
3.F=MgtanB
4.F=Ttan6B
Options :

6009645405. 1
6009645406. 2
6009645407. 3
6009645408. 4

Question Number : 3 Question Id : 6009641353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A block of mass 2 kg is sliding on a rough horizontal surface with an initial velocity 20 m/s. The block

comes to rest after travelling a distance of 40 m. The value of coefficient of kinetic friction acting
between the block and surface is, (g = 10 m/s?)

1.0.2
2.0.25
3.04
4.05

Options :

6009645409. 1
6009645410. 2
6009645411. 3
6009645412. 4

Question Number : 3 Question Id : 6009641353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

2 kg SO 1 BT TCdT 20 m/s & AR 37 3 foft B U R I 6T 81 7% e 40 m & 0
Bl o U [T H 31 Wl §1 IS 3R U o il B Tk U0 BTHA § (g = 10 m/s?)

1.0.2
2.0.25
3.04
4.05

Options :
60096454009. 1
6009645410. 2



6009645411. 3
6009645412. 4

Question Number : 4 Question Id : 6009641354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A body of mass m is connected to an inextensible string of length | and is rotated in a horizontal
circle of radius r with a speed v. The tension on the string is equal to

1.mg

2. mvr

3. mvr + mg
4. m@fr-mg

Options :

6009645413. 1
6009645414. 2
6009645415. 3
6009645416. 4

Question Number : 4 Question Id : 6009641354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.mg
2.mvér

3. mvr +mg
4 mvfr-mg

Options :

6009645413. 1
6009645414. 2
6009645415. 3
6009645416. 4

Question Number : 5 Question Id : 6009641355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Two vectors of magnitudes P and 2P make an angle 8 with each other such that the magnitude of
resultant vector is /3p. The value of 8 is equal to

1.120°
2.30°
3.60°
4.150°

Options :

6009645417. 1
6009645418. 2
6009645419. 3



6009645420. 4

Question Number : 5 Question Id : 6009641355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&l e forid AT p 3R 2P UH-CHR & 1Y Bl IV © 39 WP &1 § fb b o} aie
H1URA 3p &1 PO FTAN G

1.120°
2.30°
3.60°

4.150°

Options :

6009645417. 1
6009645418. 2
6009645419. 3
6009645420. 4

Question Number : 6 Question Id : 6009641356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A mass is thrown vertically upward from the ground with certain initial velocity u. Which one of the
following velocity-time graphs represents the motion of the mass?

Options :

6009645421. 1
6009645422. 2
6009645423. 3
6009645424. 4



Question Number : 6 Question Id : 6009641356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645421. 1
6009645422. 2
6009645423. 3
6009645424, 4

Question Number : 7 Question Id : 6009641357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A projectile is thrown with an initial velocity v, from the ground at an angle 8 with the horizontal
direction. Which of the following statements is correct during its entire journey?

1. Horizontal component of linear momentum of the projectile is constant during its motion
2. Vlelocity of the projectile is zero at the maximum height

3. Acceleration of the projectile is zero at the maximum height

4, Displacement of the projectile in horizontal direction is zero

Options :

6009645425. 1
6009645426. 2
6009645427. 3
6009645428. 4

Question Number : 7 Question Id : 6009641357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645425. 1
6009645426. 2
6009645427. 3
6009645428. 4

Question Number : 8 Question Id : 6009641358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A car moves on an inclined plane and covers 10 km path under the action of a horizontal force of
5 N. The work done on the car is 25 kJ. The inclination of the plane to horizontal is

1.75°
2.60°
3.45°
4.30°

Options :
6009645429. 1
6009645430. 2



6009645431. 3
6009645432. 4

Question Number : 8 Question Id : 6009641358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 T R SN & &l 9 & 34efi PIS HR 10 km G0 70 Bl §1 PR W {21 71 67 25 k) B
al 1 &ifcel 8 gPrd ¢

1. 75°
2.60°
3.45°

4.30°

Options :

6009645429. 1
6009645430. 2
6009645431. 3
6009645432. 4

Question Number : 9 Question Id : 6009641359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Under the action of a force, a mass of 2 kg moves such that its position x at any time  is given by
x = £/3, where x is in meter and t is in second. The work done by the force in first two seconds is

1.16)
2.16)
3.160)
4.16 k)

Options :

6009645433. 1
6009645434. 2
6009645435. 3
6009645436. 4

Question Number : 9 Question Id : 6009641359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

forell 901 & 3119 2 kg %OAH F1 Bl UG 30 YR T B ¢ (o (el e ¢ R gt Rfa x
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1.16)
2.16)
3.160

4.16kJ

Options :

6009645433. 1
6009645434. 2
6009645435. 3



6009645436. 4

Question Number : 10 Question Id : 6009641360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The path described by a point (not at the centre of disc) in a rolling disc on a level surface without

slipping is

1. linear

2. circular
3. cycloid

4. parabolic

Options :

6009645437. 1
6009645438. 2
6009645439. 3
6009645440. 4

Question Number : 10 Question Id : 6009641360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3, qehvl
4, RAug

Options :

6009645437. 1
6009645438. 2
6009645439. 3
6009645440. 4

Question Number : 11 Question Id : 6009641361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A flywheel, rotating about its axis, has moment of inertia 0.16 kg m? Its angular momentum

decreases from 3.2 kg m? rad/s to 0.8 kg m? rad/s in 1.2 seconds. The average torque acting on the
flywheel is

1.2Nm

2.32Nm
3.1.6Nm
4.05Nm

Options :
6009645441. 1



6009645442. 2
6009645443. 3
6009645444. 4

Question Number : 11 Question Id : 6009641361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 31ef & TRG: I DR ol uTer I @1 g Syt 0.16 kg m? §1 1.2 YHUS H 3HI
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1.2 Nm

2.32Nm

3.1.6 Nm
4,0.5 Nm

Options :

6009645441.
6009645442.
6009645443.
6009645444.

AW N =

Question Number : 12 Question Id : 6009641362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Main scale of a vernier calliper has least count of 1 mm. 20 divisions of vernier scale coincide with 19
divisions of main scale. The vernier constant of the calliper is

1.0.01¢cm
2.0.01 mm
3.0.005 cm
4.0.005 mm

Options :

6009645445. 1
6009645446. 2
6009645447. 3
6009645448. 4

Question Number : 12 Question Id : 6009641362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(ol AR Fer & T UM 1 SfeTqHi 1 mm g1 GFER QU & 20 4T 780 THH & 19 47 &
Hurdt §1 39 aiR e & i fodie @

1.0.01cm
2.0.01 mm
3.0.005 cm

4.0.005 mm
Options :
6009645445. 1
6009645446. 2
6009645447. 3



6009645448. 4

Question Number : 13 Question Id : 6009641363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A planet moves around the sun in an elliptical orbit. It moves with a speed v, at a distance r; and
with a speed v; at a distance r;. Then

1.valvy =i
2. Vfvy = ryfrs
3.1V = (r4/r)?
4 vifvy = (ryfry)?

Options :

6009645449. 1
6009645450. 2
6009645451. 3
6009645452. 4

Question Number : 13 Question Id : 6009641363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Lvifvy =i/
2, V1f‘u’g = rgfﬁ
3.vilvy = (rifry)
4vifvy = (ryfry)

Options :

6009645449. 1
6009645450. 2
6009645451. 3
6009645452. 4

Question Number : 14 Question Id : 6009641364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A satellite of mass M is revolving round the earth in a stationary orbit with time period T. If 10% of
the mass is detached from the satellite, then its time period will

1. remain same

2. increase by 10%

3. decrease by 10%

4. decrease by 20%
Options :
6009645453. 1

6009645454. 2
6009645455. 3



6009645456. 4

Question Number : 14 Question Id : 6009641364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
S M 1 Pl ST Judt & TRT R forelt FRR e # araaprar 7 & o @ e ¢ 4 3
JUYE ¥ 10% 5o9HH ¢ R R WY, dl 381 Hdd I
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Options :

6009645453. 1
6009645454. 2
6009645455. 3
6009645456. 4

Question Number : 15 Question Id : 6009641365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Four particles, each of mass m, are kept at the four corners of a square of side | each. The amount of
work done to separate these particles for no interaction between them will be

1 4Gm-

|
Gm* -
2~—;—n{4+x-z}

3 GTTI: r
——(44V?2)

Options :

6009645457. 1
6009645458. 2
6009645459. 3
6009645460. 4

Question Number : 15 Question Id : 6009641365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645457. 1
6009645458. 2
6009645459. 3
6009645460. 4

Question Number : 16 Question Id : 6009641366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Two point masses, each of mass m, are in circular motion due to their mutual gravitational attraction.
The masses are situated at diametrically opposite points of a circle of radius R. Then speed v of each
masses will be

1. /6m/R
2. [26m/R
3. /6m/2R

4../6m/4R

Options :

6009645461. 1
6009645462. 2
6009645463. 3
6009645464. 4

Question Number : 16 Question Id : 6009641366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4. [Gm/4R




Options :

6009645461. 1
6009645462. 2
6009645463. 3
6009645464. 4

Question Number : 17 Question Id : 6009641367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Temperature of 1 mole of H, gas is changed from 127 °C to 427 °C isobarically. If the initial volume
of the gas is V, then its new volume will be

Options :

6009645465. 1
6009645466. 2
6009645467. 3
6009645468. 4

Question Number : 17 Question Id : 6009641367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645465. 1
6009645466. 2
6009645467. 3
6009645468. 4

Question Number : 18 Question Id : 6009641368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An ideal gas heat engine operating in a Carnot cycle absorbs heat at 127 °C from the source and
exhausts at 87 °C in the sink. The efficiency of the heat engine is

1.1%
2.5%
3.10%
4. 20%



Options :

6009645469. 1
6009645470. 2
6009645471. 3
6009645472. 4

Question Number : 18 Question Id : 6009641368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

S 95 ¥ AT PRal Bl G 11 HW §9H 127 °C R 3G (source) A ST a2 il 6
31X 87 °C TR W (sink) 1 FISBIRIT X <l 81 dd HW 9 1 afel @

1.1%
2. 5%
3.10%
4.20%

Options :

6009645469. 1
6009645470. 2
6009645471. 3
6009645472. 4

Question Number : 19 Question Id : 6009641369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



For gas with rigid diatomic molecules, the molar specific heat capacity ratio, ¥(=C,/C,) is

1.5/3

2.7/5

3.9/7

4.5/1
Options :
6009645473. 1
6009645474. 2

6009645475. 3
6009645476. 4

Question Number : 19 Question Id : 6009641369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

G I URAIUD 31U aell 19 o 17y HIeR a1y SATenal 3FHm, y (=C,/C,) €l ¢

1.5/3

2.1/5

3.9/

4.5/7
Options :
6009645473. 1
6009645474. 2

6009645475. 3
6009645476. 4



Question Number : 20 Question Id : 6009641370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the root-mean-square speed of hydrogen molecules at 27 °Cis 1936 m/s, then the root-mean-
square speed of oxygen molecules at the same temperature is

1.121 m/s
2. 968 m/s
3. 484 m/s
4.1936 m/s
Options :
6009645477 1
6009645478 2

6009645479. 3
6009645480. 4

Question Number : 20 Question Id : 6009641370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TG 27 °C R gI3gior U3 &I aFl-HIe-Ial A1l 1936 m/s §, ol 36 d10 W SHiadior Hujsif i -
HI%-Hd 91 ¢

1. 121 m/s
2.968 m/s
3.484 m/s
4,1936 m/s



Options :

6009645477. 1
6009645478. 2
6009645479. 3
6009645480. 4

Question Number : 21 Question Id : 6009641371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following options is correct for adiabatic process?

1. There is no transfer of heat

2. The pressure remains constant
3. The temperature remains constant
4. The volume remains constant

Options :

6009645481. 1
6009645482. 2
6009645483. 3
6009645484. 4

Question Number : 21 Question Id : 6009641371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645481. 1
6009645482. 2
6009645483. 3
6009645484. 4

Question Number : 22 Question Id : 6009641372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A simple pendulum is oscillating with an angular frequency w and amplitude A. The displacement
and velocity of the pendulum, when potential energy is half the total energy, are given by

3424, 24w

4.\24,\240
Options :
6009645485. 1

6009645486. 2
6009645487. 3



6009645488. 4

Question Number : 22 Question Id : 6009641372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pl IR D M A IR PIVY 3MGfef o b JY I HR X1 1 o 39 T i UGS Sl o
3ol @1 et Gl ¢, ll 50 i o1 (GO 3R 97T oW G

Options :

6009645485. 1
6009645486. 2
6009645487. 3
6009645488. 4

Question Number : 23 Question Id : 6009641373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following equations indicates the relationship between the acceleration a and the
displacement from the mean position x for a particle executing simple harmonic motion?

l.a=43x
2a=-2*
3a=-4x
4 a=-2/x
Options :

6009645489. 1
6009645490. 2
6009645491. 3
6009645492. 4

Question Number : 23 Question Id : 6009641373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR 1 7f B el H01 & FeIw R () 30 A1 R FARaTOrT () & i ey 1 fd e
IH-91 FHlep AT S Xl 2

l.a=+43x
2. a=-2x*
3.a=-4x
da=-2x
Options :

6009645489. 1
6009645490. 2



6009645491. 3
6009645492. 4

Question Number : 24 Question Id : 6009641374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A pipe, 15 cm long, is open at both ends. Which harmonic mode of the pipe would resonate with a 2.2 kHz

source? ( Given, velocity of sound in air = 330 m/s. )

1. Fundamental

2. Second harmonic
3. Third harmonic
4, Fourth harmonic

Options :

6009645493. 1
6009645494. 2
6009645495. 3
6009645496. 4

Question Number : 24 Question Id : 6009641374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



15 cm T Bl T30 a1 RRI R Gl ¢l 59 URY & HiH-81 TOmaf a4 2.2 kHz S8R & &id 9
3G Yt fe e, arg o e #1a7 = 330 mys.

1.7
2. fadia qumgfa
3, 1O
4. 994 g

Options :

6009645493. 1
6009645494. 2
6009645495. 3
6009645496. 4

Question Number : 25 Question Id : 6009641375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A transverse harmonic wave on a string is described by

y(x,t) =5 sin (40t + 0.02x)
where x and y are in cm and t in 5. The velocity of the wave is

1.40 cm/s
2.0.02 cm/s
3. 2000 cm/s
4,200 cm/s



Options :

6009645497. 1
6009645498. 2
6009645499. 3
6009645500. 4

Question Number : 25 Question Id : 6009641375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fopdlh Y] TR 3101 BTG ¥l bl qui Aol fou s fobr v &
y (x, t) = 5sin (40t + 0.02x)
Tl x IRy TR ATt S A I ARSI g

1.40 cm/s
2.0.02 cm/s
3, 2000 cm/s
4.200 cm/s

Options :

6009645497. 1
6009645498. 2
6009645499. 3
6009645500. 4

Question Number : 26 Question Id : 6009641376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Sound of frequency 1000 kHz propagating in air meets a water surface. The transmitted sound wave
in water will have

1. same speed but different frequency
2. different speed and different frequency
3. same speed but different wavelength
4. different speed and different wavelength
Options :
6009645501. 1
6009645502. 2

6009645503. 3
6009645504. 4

Question Number : 26 Question Id : 6009641376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

aR ¥ AR 1000 kHz 3aF $1 Pl @G o & U R 3G Bl ¢ | 5 H IR G a8 i

1, < A Tl U 3qfel fort gl
2. 1 ot T IR ara off ot gl
3, 916 G Tt TR e fiva g
4, 7 o gt 3R et +ft i g

Options :

6009645501. 1
6009645502. 2
6009645503. 3



6009645504. 4

Question Number : 27 Question Id : 6009641377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Consider two wires A and B which are made of same material. The diameter of A is four times larger
than B. If they are stretched by same load, then the stress on Bis

1. equal to that on A

2. sixteen times that on A
3. twice thaton A

4, half that on A

Options :

6009645505. 1
6009645506. 2
6009645507. 3
6009645508. 4

Question Number : 27 Question Id : 6009641377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



T Uerd & § &1 aR1 A 3R B R fIR PWTI TR A BT @, TR 8 % o &1 49R T ¢ 4R 3
I aRT 1 M HR @ afAd o o g, d aR 8 W e

1. IR A R Vfded & T g

2. TR A R Yidad &1 Fieg 1 g
3, TR A W Widad &1 ¢ T g

4, AR A W QS &1 3¢ g

Options :

6009645505. 1
6009645506. 2
6009645507. 3
6009645508. 4

Question Number : 28 Question Id : 6009641378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Wiater rises in a capillary tube to a height of 2 cm. How much will the water rise through another
capillary tube whose radius is one-third of the first tube?

1.8x10° m

2
2 - em
3
3.(2)"* em
46Xx107 m
Options :
6009645509. 1
6009645510. 2



6009645511. 3
6009645512. 4

Question Number : 28 Question Id : 6009641378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ot P § 7 2 om B S 0 SR Iad1 ol fbdt o=y daeett forgat B ugelt Sl ot
B @1 1-fagTs &, H 9 [l HaTs dd S 36T

1.8Xx107° m
7,

£

- =Cm
3

3.(2)Y cm

46x10™ " m

Options :

6009645509. 1
6009645510. 2
6009645511. 3
6009645512. 4

Question Number : 29 Question Id : 6009641379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



When a raindrop of radius r falls through air with velocity v, the viscous force acting on it will be

1. proportional to r

2. proportional to
3. proportional to 1/r
4. independent of r

Options :

6009645513. 1
6009645514. 2
6009645515. 3
6009645516. 4

Question Number : 29 Question Id : 6009641379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

4 1 O 1 U aul i g gar v ARG 8, A 39 R B R arel M ((cRep) 93 gl

Options :

6009645513. 1
6009645514. 2
6009645515. 3
6009645516. 4



Question Number : 30 Question Id : 6009641380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A particle accelerator is used for accelerating

1. neutrons

2. protons
3. y-rays
4. neutrinos

Options :

6009645517. 1
6009645518. 2
6009645519. 3
6009645520. 4

Question Number : 30 Question Id : 6009641380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U DU @ (particle acclerator) I JUGNT (5 @Nd P & ﬁ’[& G| ?IFIT??

1. eH ol
2 Uie @l
3, 791 &l &l

4, e Bl

Options :

6009645517. 1
6009645518. 2
6009645519. 3



6009645520. 4

Question Number : 31 Question Id : 6009641381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A double convex lens has two surfaces of equal radius R and refractive index y = 1,5. Then focal
length will be

1.2R
2.-R
3.R
4.R/2

Options :

6009645521. 1
6009645522. 2
6009645523. 3
6009645524. 4

Question Number : 31 Question Id : 6009641381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



ol QT ¥ & ol UBT &1 G G0 R § a1 0aT SUaaHId p=1.5 1 78 39! Biod i

1.2R

2-R

3R

4.R/2
Options :
6009645521. 1
6009645522. 2

6009645523. 3
6009645524. 4

Question Number : 32 Question Id : 6009641382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For a solenoid of length [, area of cross-section 4, inductance L and with number of turns N, the self-
inductance increases as

1. both | and A increase

2. 1 increases and A decreases

3. ] decreases and A increases

4. both ] and A decrease
Options :

6009645525. 1
6009645526. 2



6009645527. 3
6009645528. 4

Question Number : 32 Question Id : 6009641382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

QTS |, SFTTRIFIC 8B A, RS L AR $a quel B G N PI U & @ik 4 i gl

E]-

\J

1.1 RA S HTGEH W
2| Hfg HRA A gH R
3. HFH AR A AfGEH R
4.1 IR A G HFHI M ®

Options :

6009645525. 1
6009645526. 2
6009645527. 3
6009645528. 4

Question Number : 33 Question Id : 6009641383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The figure shows the magnetic field lines due to a magnet. Choose the correct option about the

magnetic field strength :
D
o By
L ] * ' » ]
F G H
— i
\-~-_,-x-/
1.B; > B, > By
2. B, < B, < By
3. B; = By <B;
4By =By > B
Options :

6009645529. 1
6009645530. 2
6009645531. 3
6009645532. 4

Question Number : 33 Question Id : 6009641383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Aid fau o # fodl e & SR Jraly & Y i vl §1 ety & diga & favg § gl
ﬁaﬂﬁﬁlﬁﬂﬁQ:

1.B; > B; > By
2. By < B; <By
3.B, =B, <B,
4.B; = By > By
Options :
6009645529. 1
6009645530. 2

6009645531. 3
6009645532. 4

Question Number : 34 Question Id : 6009641384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following cannot be deflected by either electric or magnetic fields?

1. Proton

2. B-particle

3. a-particle

4. y-rays
Options :
6009645533. 1
6009645534, 2

6009645535. 3
6009645536. 4

Question Number : 34 Question Id : 6009641384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FRfeRea o 3 (g U P [dggaa srar Jaaig & (il o gy i faeiita el fovar o e &7

1. 9IcH
2. p-F0
3. a-b0
4,y

Options :

6009645533. 1
6009645534. 2
6009645535. 3
6009645536. 4



Question Number : 35 Question Id : 6009641385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A permanent magnet can be made by a material having

1. high retentivity and high coercivity
2. high retentivity and low coercivity
3. low retentivity and low coercivity

4. low retentivity and high coercivity

Options :

6009645537. 1
6009645538. 2
6009645539. 3
6009645540. 4

Question Number : 35 Question Id : 6009641385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

39 Ul g1 T} e ST O ol ¢ foRidl

1, I YRS 1 3 e gl
2. 3o RO aut f Fnean gt @
3, e ol 1 et €l €
4, iy yrorfierar qur 3= fenfea et &

Options :

6009645537. 1
6009645538. 2
6009645539. 3




6009645540. 4

Question Number : 36 Question Id : 6009641386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the given circuit, the capacitor C is first charged by closing the key K4 and then the key K is

opened and a dielectric slab of dielectric constant K is inserted between the plates of the capacitor.
Then we can say that the

K

=

—
Ve

1. potential across C will increase
2. charge in C will increase
3. potential across C will decrease
4. charge in C will decrease

Options :

6009645541. 1
6009645542. 2
6009645543. 3
6009645544. 4

Question Number : 36 Question Id : 6009641386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



feu 0 uivwy 7 e ¢ 1 Ugel dolt K, Pl dch AT o T 3R OB ol K, bl e e
a1 3R e bl uferafl & dfid wIdeydie K &1 Pl Widgyd Ted 481 fad 71| dd g1 g Febd
42

=

——
o

1.C & RRIw fava o ofg 31 oo
2.C H omaw & af gl et
3,C & AR fawa & &t g oot
4, C ¥ 3mag A et gl ool
Options :
6009645541. 1
6009645542. 2

6009645543. 3
6009645544. 4

Question Number : 37 Question Id : 6009641387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The wire in the potentiometer circuit shown has resistance r, and C is the balance point when key K;
is kept open. On closing the key K5, the balance point will

i
(|
A * B
R )
19V
KE

1. shift either way depending on the value of (R/r}
2. shift towards A
3. shift towards B

4, still remain at C

Options :

6009645545. 1
6009645546. 2
6009645547. 3
6009645548. 4

Question Number : 37 Question Id : 6009641387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



&I T areFRRmiiey uivwy H aR &1 WicRIY ¢ & ol 8 doll K, B Gall 781 T 6, 79 Sqa (9 C
Rl Bull K, Pl < B R e fog

WK A
— 49—
C,

A ., B
torty
19V
K?

1, Tt oft SR RIFING B 0T 3R T8 (R/r) & A W R am
2. A Bt 3R R g
3.8 B R WMARIRG g

4, C WRI®

Options :

6009645545. 1
6009645546. 2
6009645547. 3
6009645548. 4

Question Number : 38 Question Id : 6009641388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The intensities of light coming from two different slits are in the ratio 1: 4 in Young's double-slit

experiment. The ratio of intensities corresponding to the maxima and minima in the interference
pattern would be

1.y2:1
2.2:1
3.4:1
4.9:1

Options :

6009645549. 1
6009645550. 2
6009645551. 3
6009645552. 4

Question Number : 38 Question Id : 6009641388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
b fig-1308 e A ) fafeet frRat @ ofr el wbren bt clfictafl 1 Sfgurd 12 4 §1 afaeheul e A
e afers R P & ool 3 g

1.42:1
2.2:1
3.4:1

4.9:1

Options :
6009645549. 1



6009645550. 2
6009645551. 3
6009645552. 4

Question Number : 39 Question Id : 6009641389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following phenomena confirms that light waves are transverse in nature?

1. Dispersion of light

2. Polarization of light
3. Interference of light

4, Diffraction of light
Options :
6009645553. 1
6009645554. 2

6009645555. 3
6009645556. 4

Question Number : 39 Question Id : 6009641389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1% €1 ) - oo g I e o S a8 R ol 7

1. TS 1 aRRegur

2. TR & 430
3, YIS ] G
4, T 1 fadedd



Options :

6009645553. 1
6009645554. 2
6009645555. 3
6009645556. 4

Question Number : 40 Question Id : 6009641390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The work function of a metal is 2.21 V. The threshold frequency for the emission of photoelectrons
is nearly (h = 6.64x1034) s)

1.53x1072 Hz
2.53x10" Hz
3,5.3x10™ Hz
4.53x10" Hz
Options :
6009645557. 1
6009645558. 2

6009645559. 3
6009645560. 4

Question Number : 40 Question Id : 6009641390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



5 91 &1 PG 221 eV 1 BlogadeH § I $ U Sgelt ongfd g, T
(h = 6.64x107 Js)

1.53x107"2 Hz
2.53x10" Hz
3,53x10" Hz

4.53x10" Hz

Options :

6009645557. 1
6009645558. 2
6009645559. 3
6009645560. 4

Question Number : 41 Question Id : 6009641391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
{Mase of a transistor is

1. very thin and heavily doped
2. very thick and heavily doped
3. very thin and lightly doped
4. very thick and lightly doped

Options :

6009645561. 1
6009645562. 2
6009645563. 3
6009645564. 4



Question Number : 41 Question Id : 6009641391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ford eiforees 31 AR g €

1. A1 T IR P A
). 3T HieT R i Hiea
3, R el 3R gel AIfed
4, 3IfI et R gedbl Afed

Options :

6009645561. 1
6009645562. 2
6009645563. 3
6009645564. 4

Question Number : 42 Question Id : 6009641392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The truth table for a logic gate is given below :

Input | Output

A | B Y
0] 0 0
0] 1 0
110 0
1] 1 1

The logic gate is

1. AND gate
2.NOT gate
3. OR gate

4. NAND gate

Options :

6009645565. 1
6009645566. 2
6009645567. 3
6009645568. 4

Question Number : 42 Question Id : 6009641392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

ferell i e 2l Ferm aelt i & o €

faw | i
AlB| ¥
ofo] o
o[1] o
1o o0
I

g ol e 3

1. AND ¢
2.NOT e
3, 0RTE

4. NAND 7l

Options :
6009645565. 1



6009645566. 2
6009645567. 3
6009645568. 4

Question Number : 43 Question Id : 6009641393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The de Broglie wavelength of an electron when it is accelerated by a potential difference of 49 V will

be nearly

1.0.0175 nm
2.0.175 nm
3.0.175 pym
4.0.175 mm

Options :

6009645569. 1
6009645570. 2
6009645571. 3
6009645572. 4

Question Number : 43 Question Id : 6009641393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



49V & AR GRT @R (68 o R ol geiae @1 ¢ sl e gill, e

1.0.0175 nm

2.0.175 nm
3.0.175 pym
4.0.175 mm

Options :

6009645569. 1
6009645570. 2
6009645571. 3
6009645572. 4

Question Number : 44 Question Id : 6009641394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A plane electromagnetic wave propagating along ¥ direction can have which of the following pairs

of pand g ?

1.£,8,
2, 8B,
3£, 8,
4.E, B,
Options :
6009645573. 1
6009645574. 2

6009645575. 3
6009645576. 4



Question Number : 44 Question Id : 6009641394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

y-fen & ofem Tafva fordt wmaa fagqqar@i R & 7 ARG & R fou o g # @ aH-
T gl bl 7

1., 8,
2.E, B,
3.E, B,
4.E, B,

Options :

6009645573. 1

6009645574. 2

6009645575. 3
6009645576. 4

Question Number : 45 Question Id : 6009641395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Visible light has a frequency range of approximately

1,4x10" Hz to 7.5x10™ Hz

2.15x10™ Hz to 1x10" Hz

3, 110" Hz to 2x10™ Hz

4.1x10" Hz to 1x10" Hz
Options :



6009645577. 1
6009645578. 2
6009645579. 3
6009645580. 4

Question Number : 45 Question Id : 6009641395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T VI 1 31afel TRER Bl 8, T

1.4x10™ Hz ¥ 75x10™ Hz
2.15x10" Hz ¥ 1x10 Hz
3,1x10" Hz ¥ 2x10" Hz
4.1x10" Hz ¥ 1x10" Hz

Options :

6009645577. 1
6009645578. 2
6009645579. 3
6009645580. 4

Question Number : 46 Question Id : 6009641396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The power factor for an L-C-R series circuit at resonance is

1.0.25
2.05
3.0.707
4.1

Options :

6009645581. 1
6009645582. 2
6009645583. 3
6009645584. 4

Question Number : 46 Question Id : 6009641396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3IG R forsft L-C-R ot ufvwry 3 o wfdr ot gl &

1.0.25

2.0.5
3.0.707
4.1

Options :

6009645581. 1
6009645582. 2
6009645583. 3
6009645584. 4



Question Number : 47 Question Id : 6009641397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The frequency for which 5 pF capacitor has reactance of 10~ (Q, is

10°
1. — Hz

j‘T-
10°
2. — Hz

ITE

10
3 —
]T.-
10°
4 — Hz

n
Options :
6009645585.
6009645586.
6009645587.
6009645588.

AW N~

Question Number : 47 Question Id : 6009641397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



¢ 3f1af, forgd fofu 5 uF & TR &1 ufced 107 Q gl &, &l

: 10°
-— H2
er-
10°
& Hz

Ha
10
3 — Hz

ﬂ-?
10
4 — He

I
Options :
6009645585.
6009645586.
6009645587.
6009645588.

AW N —

Question Number : 48 Question Id : 6009641398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Hole current in a semiconductor is due to the

1. movement of valance electrons

2. movement of conduction electrons

f
f
3. movement of positrons
4. movement of positive ions

Options :
6009645589. 1
6009645590. 2



6009645591. 3
6009645592. 4

Question Number : 48 Question Id : 6009641398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fopelt afefareras o faak oy wafed €1t @

1, GOl Saidei i fd & HRY]
2. 9T Zeidei 31 1fd & HRY

3, GifoieiHl @1 d & Rl

4, TG 1 TIHd & HRO

Options :

6009645589. 1
6009645590. 2
6009645591. 3
6009645592. 4

Question Number : 49 Question Id : 6009641399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The radius of Bohr's innermost orbit for hydrogen atom is 0.053 nm. Then the radius of the second
Bohr's orbit will be

1.0.106 nm
2.0.212 nm
3.0.075 nm
4.0.037 nm

Options :

6009645593. 1
6009645594. 2
6009645595. 3
6009645596. 4

Question Number : 49 Question Id : 6009641399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

EIgSIoM XA & fofu AR 1 e +fiardl e 1 IS 0,053 nm €1 78 SR Bt 508 el 3t s gl

1.0.106 nm
2.0.212 nm
3, 0.075 nm
4.0.037 nm
Options :
6009645593 1
6009645594 2

6009645595. 3
6009645596. 4



Question Number : 50 Question Id : 6009641400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
During a negative beta decay

1. an orbital electron of the atom is ejected

2. an electron and a neutrino are ejected from the nucleus

3. a proton in the nucleus decays emitting an electron

4. a neutron in the nucleus decays emitting an electron and an antineutrino

Options :

6009645597. 1
6009645598. 2
6009645599. 3
6009645600. 4

Question Number : 50 Question Id : 6009641400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el BT B-67 DI 3fafyy

1, TRAT] &1 U BT gaidei Hpied gidl o

2. A 8 U gaaeia R 0@ e AR gl ¢

3, A ¥ U Wil &Id Bl ¢ IoRRI U geide i HNpIid giel ¢

4, e ¥ T T 42 gl ¢ FoR) 0o el 3R 0@ Ueigfet Feifi gid €

Options :
6009645597. 1



6009645598. 2
6009645599. 3
6009645600. 4

Part B Chemistry

Section Id : 60096429
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 60096429
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6009641401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is the most stable conformation of NH,CH,CH,0H?




H OH
2
H H
H
NH;
H H
3.
H H
OH
NH,
H
4,
H
H oHN
Options :

6009645601. 1
6009645602. 2
6009645603. 3
6009645604. 4



Question Number : 51 Question Id : 6009641401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

NH,CH,CH,0H 1 Jaffties et S 7w 7 § - 87

NHy
OH
1.
7\
H
H H™H
NH,
H OH
2 1
H H
H
NHo
H LM
3 }/
N
H H
OH



Options :

6009645601. 1
6009645602. 2
6009645603. 3
6009645604. 4

Question Number : 52 Question Id : 6009641402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the most basic nitrogen in the given molecule A :

b
NH,

@

1.a
2.b
3.c
4.d

Options :

6009645605. 1
6009645606. 2
6009645607. 3
6009645608. 4

Question Number : 52 Question Id : 6009641402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



1o T 3] A ¥ e eI &Rig Tgelo &1 g

b
@ NH,
H,N
AN 0
A— |
"y
N
Y CHy—NH,
@
1. a
2.b
3.C
4.d
Options :

6009645605. 1
6009645606. 2
6009645607. 3
6009645608. 4

Question Number : 53 Question Id : 6009641403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



How many hydrogens are involved in hyperconjugation in the given organic compound A?

CHs
CHy, =\
A— CH f}_CHa
3 ):
CHa
1.12
2.13
3.15
4,16
Options :

6009645609. 1
6009645610. 2
6009645611. 3
6009645612. 4

Question Number : 53 Question Id : 6009641403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



fCU T FTeS T A ¥ ST ¥ fohe gIgg or S 67

CHs
CH3 f\:
A— P .:}_CHS
CHyY \—/
CHy
1.12
2.13
3.15
4.16
Options :

60096456009. 1
6009645610. 2
6009645611. 3
6009645612. 4

Question Number : 54 Question Id : 6009641404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a ‘green’ practice?

1. Use of H,0, as bleaching agent

f

2. Use of halogenated compounds as solvents

3. Use of liquid CO; in dry cleaning of clothes
f

4. Use of catalysts to get better yields

Options :

6009645613. 1
6009645614. 2
6009645615. 3
6009645616. 4

Question Number : 54 Question Id : 6009641404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e H  PI- gR G 76T @2

1. H,0, 31 fa¥ei HRS & & 1 Jai

2. ealioriiard i & faama! & w0 d wa
3, YS! B! Hoidl alg H &d CO, BT T

4, 9gR IS T & ot SRS &1 7l

Options :

6009645613. 1
6009645614. 2
6009645615. 3
6009645616. 4



Question Number : 55 Question Id : 6009641405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Select the correct option for the decreasing order of the given alkyl halides towards the Sy1

reaction.
Br
O\ B
b
| i
>
2> 1>
3> 1>l
411> >l
Options :

6009645617. 1
6009645618. 2
6009645619. 3
6009645620. 4

Question Number : 55 Question Id : 6009641405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



1o T Ufedhal §agS! 1, Sy 1 B fox # Sififdban & Hed b  fo wel faded T

6 Q0

1A >
2> 1>
3> 1>
410> 1> 1l
Options :

6009645617. 1
6009645618. 2
6009645619. 3
6009645620. 4

Question Number : 56 Question Id : 6009641406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consider the following sequence of reaction ;

_ Na/NH; ~ Baeyer's
CH3—C=C—CH, *A reagert

Select the correct option for product 8.

1. d, enantiomer only
2. |, enantiomer only
3. Racemic mixture
4. Mesomer

Options :

6009645621. 1
6009645622. 2
6009645623. 3
6009645624. 4

Question Number : 56 Question Id : 6009641406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



fifepaaft & 79 ooH R f[dgR DI -

Na/NH; i TR F "
r -

JaIG B folu gt fadbey gu:

1, d, Ulaferaret 7
2.1, Widfsraedt 7r
3, 50 oo

4, IR

Options :

6009645621. 1
6009645622. 2
6009645623. 3
6009645624. 4

CHy—C=C—CH,

Question Number : 57 Question Id : 6009641407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following symptoms is not shown by a person suffering from vit. B, deficiency?

1. Retarded growth

2. Digestive disorders

3. Burning sensation of skin

4. Fissuring at the corners of mouth



Options :

6009645625. 1
6009645626. 2
6009645627. 3
6009645628. 4

Question Number : 57 Question Id : 6009641407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fqTF B, @1 a1 § &P TN U oiad | 179 ¥ 3 & IH-81 1 Tg1 U ol

1. Hied gl
3, @11 G5 3THd
4, 1§ & P R QR (Gee)

Options :

6009645625. 1
6009645626. 2
6009645627. 3
6009645628. 4

Question Number : 58 Question Id : 6009641408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consider the following reactions :

Mn0; + e = Mn0;” ; E°= +056V

F, 42" = 2F ; E°= 4287V
Co** +e = Co"* : °= 4+181V
V¥ 4e v, E°=-026V

Select the correct option for increasing order of reducing power.

1. V¥ < Mn0j™ < Co** < F
2 Mn0} <V* < Co** < F-
3. F < Co** < MnOF < V¥
4. Co** < F~ <Mn0} <V

Options :

6009645629. 1

6009645630. 2

6009645631. 3
6009645632. 4

Question Number : 58 Question Id : 6009641408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



g ftichara W fa=R P

Mn0; + e = Mn0; ; E°= +056V

Fot2e-2F;  E°= 4287V
Co*t +e = Co?* °= 4181V
Vi 4em o V2 E°=-026V

AT A & dgd A & fo Tel faded U

1.v3* < Mn0;™ < Co** < F-
2.Mn0;” < V¥* < Co** < F-
3. F- < Co** <Mn0Z < V¥
4 Co** < F~ < Mn0} < V**

Options :

6009645629 1

6009645630. 2

6009645631. 3
6009645632. 4

Question Number : 59 Question Id : 6009641409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



What will be the molarity of 20% (mass/mass) aqueous Kl solution having density of 1.2 g/mL?

1.165M
2145 M
3.1.15M
4.130M

Options :

6009645633. 1
6009645634. 2
6009645635. 3
6009645636. 4

Question Number : 59 Question Id : 6009641409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

20% (GEHI/GowIH) ofciid K| fdeia, ORIl 9 1.2 g/mL g, PI Hicwal a1 gl

1.165M
2.145M
3.1.75M
4.130M

Options :

6009645633. 1
6009645634. 2
6009645635. 3
6009645636. 4

Question Number : 60 Question Id : 6009641410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

On analysis, the formula of nickel oxide was found as Niggq O1 o What will be the percentages of
Ni* and Ni** in the compound?

1. Ni®*—9592%:  Ni**—4.08%
2N —946%: NiF*—54%
3 NIF*—982%: Ni**—18%
4 Nit*—970%: NiF*—3.0%

Options :

6009645637. 1

6009645638. 2

6009645639. 3
6009645640. 4

Question Number : 60 Question Id : 6009641410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
(AR R (bt SIS BTG (IR Nig g0 g T T | MG 3 Ni2* ol Ni3* I WicrIdell ol
giii?

1. Ni**—9592%; Ni**—4.08%
2. Ni®*—94.6%; Ni**—54%
3 Ni**—982%; Ni**—18%
4 Ni#*—97.0%; Ni**—3.0%

Options :



6009645637. 1
6009645638. 2
6009645639. 3
6009645640. 4

Question Number : 61 Question Id : 6009641411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A first-order reaction has a rate constant, 2 x 10~ s™", How long will 10 g of this reactant take to
reduce to 4 g [Given : log2=0.3010; log3=0.4771 and log6=0.7781]?

1.1555
2.2555
3.2455

41455

Options :

6009645641. 1
6009645642. 2
6009645643. 3
6009645644. 4

Question Number : 61 Question Id : 6009641411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



T T Pife B sififbal o FRI 2 x 102 577 §1 381 SHERS & 10 g BT U 4 g B A
foberT g A (1R : 10g2=03010; log3=04771 T4l log6=0.7781]

1.1555
2.2555
3.2455
41455
Options :
6009645641. 1
6009645642. 2

6009645643. 3
6009645644. 4

Question Number : 62 Question Id : 6009641412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What will be the relationship between molar solubility (s) and solubility product (K,p) for pb, (PO,),’

H 1,-"4
lg= (_
106/
oe(ia)
108
5 (’Lw) |
1 "
=)
48



Options :

6009645645. 1
6009645646. 2
6009645647. 3
6009645648. 4

Question Number : 62 Question Id : 6009641412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pb(PO), P fRT HIGR FAGTI (s) T et OIGRe (K.) S i<l T ey g2

K 1/4
()
106/
» 15
- ()
108/
A
3 :(ﬂ
: 51)1_
'K 2
4 (=
S_[ 3.)
Options :

6009645645. 1
6009645646. 2
6009645647. 3
6009645648. 4

Question Number : 63 Question Id : 6009641413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A metal X forms body-centred cubic crystals. If the edge length of its unit cell is 350 pm, then what
will be its atomic radius?

1.140.5 pm
2. 1514 pm
3.139.5 pm
4.160.5 pm

Options :

6009645649. 1
6009645650. 2
6009645651. 3
6009645652. 4

Question Number : 63 Question Id : 6009641413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T Y1 X b T fopeed el 1 1fc 5900 e 9 &1 BR Tl 350 pm T, @ 0! TRAT
RGN

1.140.5 pm
2.1514 pm
3.139.5 pm

4,160.5 pm

Options :

6009645649. 1
6009645650. 2
6009645651. 3



6009645652. 4

Question Number : 64 Question Id : 6009641414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The vapour pressure of benzene and toluene at 298 K are 76 and 22 mm Hg. An ideal solution is
formed on mixing of 234 g of benzene and 64.4 g of toluene. What will be the mole fraction of
benzene in vapour phase?

1.0.70
2.0.60
3.0.50
4,040

Options :

6009645653. 1
6009645654. 2
6009645655. 3
6009645656. 4

Question Number : 64 Question Id : 6009641414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



298 K TR Sl a1 I cb a1 GTd Al 76 04T 22 mm Hg &1 23.4 g doli¥ U1 64.4 g I e
R UG MG foe &¥7a1 ¢ | o st & dfoft 1 Hidl-of 1 g

1.0.70
2.0.60
3.0.50
4,040
Options :
6009645653. 1
6009645654. 2

6009645655. 3
6009645656. 4

Question Number : 65 Question Id : 6009641415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider the following species :
F-, Na*, Mg¥, 0% and AF*
Select the correct option for the increasing order of ionic radii.

1. Mg < Na* < AP* <F-<0*
2 APt < Mg** < Na* <F-< 0%
3.Na* < Mg** <AP* < 0% <F
4.0 <F < AP* <Na* < Mg*



Options :

6009645657. 1
6009645658. 2
6009645659. 3
6009645660. 4

Question Number : 65 Question Id : 6009641415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

mﬁﬁawﬁﬂﬂ#ﬁﬂ
F-, Na*, Mg*, o* a4l A®*
e Frel & 9gd 4 & fou Fel [ddbed gHu:

I.Mg** < Na* < AP* <F-< 0%
2 APt < Mg** < Na* <F- < 0%
3.Na* < Mg*t < AP* < 0* <~
4. 0% <F" < AP* <Na* < Mg**

Options :

6009645657. 1
6009645658. 2
6009645659. 3
6009645660. 4

Question Number : 66 Question Id : 6009641416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consider benzoic acid associates in benzene and get dimerised. If the benzoic acid associates up to
70%, then what will be the value of van't Hoff factor (1 )?

1.0.7

2.0.65

3.046

4.0.78
Options :
6009645661. 1
6009645662. 2

6009645663. 3
6009645664. 4

Question Number : 66 Question Id : 6009641416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

dviigds Uftre, dol ¥ ford g R fi o < @1 af g w1 I 70% g &), ae
B 01 (() 1 1 a1 g

1.0.7
2.0.65
3.046
4.0.78
Options :

6009645661. 1
6009645662. 2



6009645663. 3
6009645664. 4

Question Number : 67 Question Id : 6009641417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The threshold frequency (0,) for a metal is 6.0 x 10™ sec™". When radiation of frequency, v = 1.0 x
10" sec” hits the metal, then what is the kinetic energy of the electron emitted? [Given : h = 6.62 x
104 )g]

1.3.65 x 107
2265 x 107"}
3,195 x 1079}

J

4,295 x 10720

Options :

6009645665. 1
6009645666. 2
6009645667. 3
6009645668. 4

Question Number : 67 Question Id : 6009641417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



U ¢1q & [0 <gell 3MgMT (0 ) 6.0x10™ sec”” &1 16 MM, 0 = 1.0x10'5 sec™! T fafdwr o1 W
UGR &I 6, 78 Mo §U Saideid @I i ol 1 g7 [RTN T & : h = 6.62 x 10734 Jg

1,365 x 107"
2.265x 1077
3,195 x 107
4,295 x 10}

Options :

6009645665. 1
6009645666. 2
6009645667. 3
6009645668. 4

Question Number : 68 Question Id : 6009641418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Quantum numbers of four electrons are given below :
an=4; (=2, my=-2 m=-"
bn=3; [=2; m=1, m.=+%

cn=3; [=1; m=-1, m=+V

an=4 (=1, me=0 mg=+"

Select the correct option for the energy in increasing order.

lLa<b<c<d
2a<d<b<c
Jc<hb<e<d<a
decc<cacd<h

Options :

6009645669. 1
6009645670. 2
6009645671. 3
6009645672. 4

Question Number : 68 Question Id : 6009641418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



dR el & HT-cH FeIl Aid & TS ¢
an=4 =2 my=-2 m.=-"
bn=3; [=2; me=1, mg=+"%
cn=3 (=1, m=-1 mg=+%
dn=4 [=1:me=0, m;=+"%
Toll & g 4 & fow Tl fdpey gL

lla<b<c<d
2a<d<b<c
lc<hb<ed<a
de<aged<h
Options :
6009645669. 1
6009645670. 2

6009645671. 3
6009645672. 4

Question Number : 69 Question Id : 6009641419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct option for the ratio between three speeds of gas molecules (root-mean-square,
Unms average speed, U, and most probable speed, Up,).

L Upp Usi U = 1128122421
2. Umpr Uavi Ums = 1:1.128:1.224
3. Unpr Uaii Umps 2 1.224:1:1.128
4 Upp Ugy U = 1:1.224:1.128

Options :

6009645673. 1

6009645674. 2

6009645675. 3
6009645676. 4

Question Number : 69 Question Id : 6009641419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

18 3l & i A @A A, U A S, U, T TR 1, Uy,) S il O 1 el
3T o fore gl faden gfu

1. Unp Uayi Upg = 11282122421

2. Ump: Uayi Ummg = 1:1.128:1.224

3. Ump: Uav Ums = 1.224:1:1.128

4 Unpr Uayi Upng o 1:1.224:1.128
Options :

6009645673. 1
6009645674. 2



6009645675. 3
6009645676. 4

Question Number : 70 Question Id : 6009641420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select the correct option for PbCl, and PbCl,

1. Both are 100% ionic in nature
2. PbCl, is ionic and PbCl, is covalent
3. PbCly is largely covalent and PbCl; is largely ionic
4, Both are 100% covalent in nature
Options :
6009645677. 1
6009645678. 2

6009645679. 3
6009645680. 4

Question Number : 70 Question Id : 6009641420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

PbCl, 4T PbCl, & folt et fddhed L :

1, G B HGH 100% G ¢

2. PbCl, e § a1 PoCl, He9aIad o

3 PhCl, WIGIR GgUalvd ¢ d4l PhCl, WG M ¢
4, < @1 Hid 100% TeHUI ¢




Options :

6009645677. 1
6009645678. 2
6009645679. 3
6009645680. 4

Question Number : 71 Question Id : 6009641421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
BCl, accepts a lone pair of electrons from NH; to form y. The geometry of y is different from that of
BCl;. Select the correct option for y and change in geometry from BCl; to y.

1.y = BC;.NH;; planar to tetrahedral

2.y = BCl3NH; ; planar to square planar

3.y =B(NH3)CI Cly; planar to tetrahedral
4.y = B(NH,Cl;)HCl;  planar to square planar

Options :

6009645681. 1
6009645682. 2
6009645683. 3
6009645684. 4

Question Number : 71 Question Id : 6009641421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



BCls, NH; & UhTdh! guidci 8 oiah y &1 & | y 1 i, BCl, @1 ot & i g1 y duT BCl; By
wafa afved & fof wet faded gfu

1.y = BCLNH; ; HdllY ¥ IqWhadi
2.y = BClsNH; ; Tl § i
3,y = BNH3)CICL,; ety ¥ Iqpadiy
4,y = BNH,CIy)HCI ; Wity § aiewaeii

Options :

6009645681. 1
6009645682. 2
6009645683. 3
6009645684. 4

Question Number : 72 Question Id : 6009641422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following will be the strongest reducing agent on the basis of £° values?

1.AYA; F=-304V
2B'B; E=-271V

3.C7/C, B =-292V
4.D°/D; E° = +0.79V
Options :

6009645685. 1
6009645686. 2
6009645687. 3
6009645688. 4



Question Number : 72 Question Id : 6009641422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

F° o HH & YR R (79 H I BIH-91 TGaqH ATETd ghe

LAYA, E'=-304V
2.B8°/B; E=-271V
3.C/C; £ =-292V

4.D*/D; £ = +0.79V
Options :
6009645685. 1
6009645686. 2

6009645687. 3
6009645688. 4

Question Number : 73 Question Id : 6009641423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Hydration is a process wherein water molecules binds to species. Select the correct option,

1. Binds to negative ions only

2. Binds to molecules only

3. Binds to positive ions only

4. Binds to negative ions, positive ions and molecules
Options :

6009645689. 1
6009645690. 2



6009645691. 3
6009645692. 4

Question Number : 73 Question Id : 6009641423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SIerioM a5 Wb g, fore ofer 31u], Wil o &1 s ol &1 el [ddved g

1, §Y STl & BUTH & T 7

2. 94 SId & U] Y A

3, Y 11 § ST o 9 A

4, ) 1§ FTEH, S T 3] & Y

Options :

6009645689. 1
6009645690. 2
6009645691. 3
6009645692. 4

Question Number : 74 Question Id : 6009641424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a redox couple?

.M*/M
2. X/ X,
MY/ Mt
4 My /M*



Options :

6009645693. 1
6009645694. 2
6009645695. 3
6009645696. 4

Question Number : 74 Question Id : 6009641424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
5 8 B H-U1 Y5199 $Yd el 67

L.M*Y/M
R of ) 4
I MY/ Mt
4. M7 /Mm*

Options :

6009645693. 1
6009645694. 2
6009645695. 3
6009645696. 4

Question Number : 75 Question Id : 6009641425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



For AG < 0, a reaction is spontaneous only if—

1. Pressure is constant

2. Temperature is constant
3. Both pressure and temperature are constant
4. Both temperature and volume are constant

Options :

6009645697. 1
6009645698. 2
6009645699. 3
6009645700. 4

Question Number : 75 Question Id : 6009641425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e ag <o, T IS ififear @a: gt 8, 3R —

1. 3E RRE

2. AU RRE

3, 31 qYT a9 3| FRR &l

4, 10 41 3 oMl RR ]
Options :
6009645697. 1
6009645698. 2

6009645699. 3
6009645700. 4



Question Number : 76 Question Id : 6009641426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

C0,(g) + H,(g) -+ CO(g) + H,0(g)

Agh for co, (g), C0(g), H,(g) and H,0(g) are

-393.5,-110.5, 0 and -241.8 kJ/mol respectively.

What is the standard enthalpy change (kJ/mol) for the reaction?

1.-412
2.41.2
3.524.1
4.-262.2

Options :

6009645701. 1
6009645702. 2
6009645703. 3
6009645704. 4

Question Number : 76 Question Id : 6009641426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



00,(g), CO(g), Hy(g) T H,0(g) P T o e FHIT:-393.5,-110.5, 031 -241.8 kymol B
€0, (g) + H,(g) = CO(g) +H,0(g) HMlehd1 o Ferw Hieb Tledt uRaii (k)/mol #) al g

1.-41.2
2.412
3.524.1

4.-262.2

Options :

6009645701. 1
6009645702. 2
6009645703. 3
6009645704. 4

Question Number : 77 Question Id : 6009641427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



What will be the hybridisation of each carbon atom in the following molecule?

1 2 3 4 5

Consider the numbering of carbon atoms according to IUPAC

1. sp-sp’=sp~sp-sp’
2. spP-sp’-sp>~sp-sp
3, sp2-sp-sp>~sp’=sp?
4, sp’~sp -sp>-sp™sp
Options :
6009645705. 1
6009645706. 2

6009645707. 3
6009645708. 4

Question Number : 77 Question Id : 6009641427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A9 310 H Y BTaT TRHIV] o1 el T gV

I & @ 4 .3
CHy=CH—CH;—C=CH

1 st ot o o1z 7, . U 4 a9 @i

1. sp-sp>-sp>~sp-sp°
2. spP~sp>-sp>~sp-sp
3, sp’=sp-sp-sp°=sp°
4, sp’~sp*-sp*~sp~sp
Options :
6009645705. 1
6009645706. 2

6009645707. 3
6009645708. 4

Question Number : 78 Question Id : 6009641428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct option for the shape acquired by the following ions :

BH;; CO; ClO:; Clo; respectively

1. Tetrahedral; Planar; Pyramidal; Tetrahedral
2. Tetrahedral; Planar; Tetrahedral; Tetrahedral
3. Pyramidal; Planar; Tetrahedral; Tetrahedral
4, Tetrahedral; Planar; Pyramidal; Pyramidal

Options :

6009645709. 1

6009645710. 2

6009645711. 3
6009645712. 4

Question Number : 78 Question Id : 6009641428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

{3 g1 aifofd aapfa (e 3 forg e fawea g0
BH;; C05; Clos; clo;

1. IqBDIY, T, TORITS], aqpadiy
2. AqRADIY, YA, IqHADIY, TH b

3, fORI0TS, Ferell, Tqvhaia g, Iqhad
4, Ih [, FHeell, RIS, foRTirsl

Options :
6009645709. 1




6009645710. 2
6009645711. 3
6009645712. 4

Question Number : 79 Question Id : 6009641429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following reactions is not given by glucose?

1. Oxidation with bromine water

2. Schiff's test
3. Oxime as product on reaction with NH,0H
4. Hydrocarbon as product on reaction with hydrogen iodide

Options :

6009645713. 1
6009645714. 2
6009645715. 3
6009645716. 4

Question Number : 79 Question Id : 6009641429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



B & 1Y st e Tl gl

1, S T4 & 1Y Al

2. R affia®

3. NH,0H & T 3{f3ichd] IR 3fidoligH JeTG &1

4, BESIoH GRS b WY AT R W GRSIBIN B JUIE & & H &

Options :

6009645713. 1
6009645714. 2
6009645715. 3
6009645716. 4

Question Number : 80 Question Id : 6009641430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consider a reaction :

CH,NH,

+2CHqCl —> A

What is A?

1. Secondary amine
2. Quaternary ammonium salt
3. Primary amine

4. Tertiary amine

Options :

6009645717. 1
6009645718. 2
6009645719. 3
6009645720. 4

Question Number : 80 Question Id : 6009641430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



AT E?

1, feco Wi
2. I SHITH qaul
3, JTfie TH
4, gt i

Options :

6009645717. 1
6009645718. 2
6009645719. 3
6009645720. 4

Question Number : 81 Question Id : 6009641431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct option for the number of sigma (o) and pi (rt) bonds present in
cyclotrimetaphosphoric acid

1. Sigma-15; Pi-3
2. Sigma-12; Pi-3
3. Sigma-10; Pi-5
4, Sigma-8; Pi-6
Options :
6009645721. 1
6009645722, 2

6009645723. 3
6009645724. 4

Question Number : 81 Question Id : 6009641431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HAARIICISHCTHIEHING RIS H TURT R (o) T Ul () SMTsr &1 6 o fou Hel fdaed U

1. Rm-15: 83
2. R-12: UR-3
3, f-10; -5
4, Rw-g: 16
Options :
6009645721. 1
6009645722. 2

6009645723. 3
6009645724. 4



Question Number : 82 Question Id : 6009641432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What are the products A and B, that are obtained when isopropyl benzene is subjected to aerial
oxidation followed by the treatment with mild acid?

1. A=CgHsOH; B-CH;COCH;
Z.A—C.E.Hg.CHEC'H; E-CH;OH
3, A-CHyCHO; B~C¢H<OH
4, A-C;H:OH: B~CH1OH

Options :

6009645725. 1
6009645726. 2
6009645727. 3
6009645728. 4

Question Number : 82 Question Id : 6009641432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



I G Tl GeIG A U1 B 1 3, off dd W1 id & o1 SMSaIWiia soitd o R faiie Hem
Wl © 3R R F9! He URe 9 ouagd fovan ofel 87

1. A-CgHsOH; B-CH,COCH,
2. A-CeHsCH,0H; B-CH30H
3, A~CH:CHO; B-CgH<OH
4, A-CeH<OH; B-CH;OH

Options :

6009645725. 1
6009645726. 2
6009645727. 3
6009645728. 4

Question Number : 83 Question Id : 6009641433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What are the products A and B, that are obtained when isopropyl benzene is subjected to aerial
oxidation followed by the treatment with mild acid?

1. A-CgHsOH; B-CH;COCH,
2. A-CgHsCH,0H; B-CH30H
3, A-CHsCHO: B~C¢H<OH
4, A-CgHsOH; B-CH;0H

Options :

6009645729. 1
6009645730. 2



6009645731. 3
6009645732. 4

Question Number : 83 Question Id : 6009641433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U1 G dTel SIS A 941 B 1 5, oll 06 U1 gid ¢ ofd SV ol &1 URae Siiadidul Hem
olldl & 3R Y 3GD! He URTS § ogdgd {dhdl oild 67

1. A-CgHsOH; B-CH;COCH;
E.ﬂ—ﬂgHgCHEOH,’- E-CH;OH
3, A-CH3CHO: B~C¢H:<OH
4, A-CgH:OH: B-CHOH

Options :

6009645729. 1
6009645730. 2
6009645731. 3
6009645732. 4

Question Number : 84 Question Id : 6009641434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match Column -| with Column-II : Column-I and II represents complexes and magnetic moment
(BM) respectively.

Column-l | Column-lI
A. K;[FeFg] . 1.73
B. [Co(NH3)g]Cl5 | 11. 5.9
C. [Ni(H20)g]Cly {111.0.0
D. Ka[Mn(CN)g] |IV.2.9

Choose the correct answer from the options given below:

1. A-ll; BIl; C-IV; D-

2. A-Il; B-IIl; C-I; D-IV

3. A-l; B-lI; C-IV; D-ll

4. A-1; B-IV; CHII; Dl
Options :

6009645733. 1
6009645734. 2
6009645735. 3
6009645736. 4

Question Number : 84 Question Id : 6009641434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



I T || I a1 iy 01 (BM) TR ol Xl §

GAREE BIH-I
A K;[FeF 1173
B. [Co(NH3)¢]Cl; 1.59
C. [Ni(H,0)ICl, 11 0.0
D. K,[Mn(CN)g] V.29

9 el G0

1. A=Il; B-Ill; C-IV; D-l
2 A-ll; Bl C-I; D-IV
3. A-I; BHIl; C-IV; D-ll
4. A-l; BV, CHIE; Dl

Options :

6009645733. 1
6009645734. 2
6009645735. 3
6009645736. 4

Question Number : 85 Question Id : 6009641435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following options about ammonia is false?

1. Ammonia is a colourless gas with a pungent odour

2. Ammonia is used for the manufacture of nitric acid
3. As a weak base, it precipitates the hydroxides of many metals from their salt solutions
4. The ammonia molecule is trigonal planar with the nitrogen atom at the apex

Options :

6009645737. 1

6009645738. 2

6009645739. 3
6009645740. 4

Question Number : 85 Question Id : 6009641435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
S & aR W g fadedl H 8 B1H-91 7 @2

1, ST el 7ief et e N

2. SR, e 3wt o TR WEAT ¥ ST H e gl o

3, Ut qadl &R® & &4 H U5 dgd N UGl &1 I qavl [ § grRaidgs & wU H saafld
Xl @

4, 3T 3] Fha T e ¢ forieh i TR AIgeIoH WA G §

Options :

6009645737. 1
6009645738. 2
6009645739. 3
6009645740. 4



Question Number : 86 Question Id : 6009641436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Zn0 in ZnS0, solution is used in electrolytic refining of zn. The electrolytic cells have lead as anode
and aluminium as cathode. What will be deposited at anode and cathode?

1. Anode-Zn; Cathode-0,
2. Anode-zn; Cathode-50,
3. Anode-0,; Cathode-Zn
4. Anode-ys0%; Cathode-Zn

Options :

6009645741. 1
6009645742. 2
6009645743. 3
6009645744. 4

Question Number : 86 Question Id : 6009641436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



2080, 90T H 00, foid 3 fagyd ufvsseon #, waie fobun it 1 weiaeferfeds 3t o e g
TQHaA TS & 0 H dd gld 1 TS qul dils TR 41 o g

1 EE-2n; -0,
2 Wligzn; $U1S-s0,
3, U0, ; $US-za
4, W_E'-Hs.f © PUS-Zn
Options :
6009645741. 1
6009645742. 2

6009645743. 3
6009645744. 4

Question Number : 87 Question Id : 6009641437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the data fits well into Freundlich isotherm, then what is the range of slope, i.e, 22
n

1.0to 1
2.-1to0
3. 1102
42105

Options :

6009645745. 1
6009645746. 2
6009645747. 3



6009645748. 4

Question Number : 87 Question Id : 6009641437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gfc, Wi fiid ! as H siids 3fdd U Y §ad ¢, ol Haurdl g1 & &1 a1 R ghn

1.091
2.-190
3192
4295

Options :

6009645745. 1
6009645746. 2
6009645747. 3
6009645748. 4

Question Number : 88 Question Id : 6009641438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Columns | and Il represent metal ion and number of electrons in outermost shell.

Column-l = Column-Il
A Mn3*
AIE
B.\V3* .4
C.crt I, 1
D. Ti¥* V.2

Select the correct option by matching Column-| with Column-II :

1. A-l; B-lll; C-lI; D-IV

2 A-lll; B-I; C-; D-IV

3. A-lI; B~ C-IV; DI

4. A-lI; B-IV; C-; D-lll
Options :

6009645749. 1
6009645750. 2
6009645751. 3
6009645752. 4

Question Number : 88 Question Id : 6009641438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



I | T 1| ] ST T S gl I o Gt ] ol e SHf¥oekd vl §

$IcTH-| Bl
A Mn** .3
B.V* [
C.Crt I, 1

D. Ti** V.2

BIGH | o T P |1 BT A B el fddhed MU

1. A-l; Bl CHIE DAV

2. A-lll; B-Il; C-I; D-IV

3. A-ll: B-I; C=IV: D-llI

4. A-lI; B-IV; C; D-lI
Options :

6009645749. 1
6009645750. 2
6009645751. 3
6009645752. 4

Question Number : 89 Question Id : 6009641439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct decreasing order for the radii of the given lanthanides.

T.Nd » Pr> Ce > La
2.Ce >Pr>Nd > La
3.La > Ce > Pr > Nd
4la > Ce>Nd > Pr
Options :

6009645753. 1
6009645754 2

6009645755. 3
6009645756. 4

Question Number : 89 Question Id : 6009641439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fod T WISt ot Bsial & o Hel gedl wH 9

T.Nd > Pr> Ce > la
2.Ce > Pr>Nd > la
3.Lla > Ce > Pr> Nd
4.la > Ce > Nd>Pr

Options :

6009645753. 1
6009645754. 2
6009645755. 3
6009645756. 4



Question Number : 90 Question Id : 6009641440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the type of polymerization reaction between the given monomers?

HENWNYNHE

NN | + N(HCHO——> Polymer
N
NH,

1. Addition polymerization

2. Step growth polymerization
3. Chain growth polymerization
4. Substitution polymerization

Options :

6009645757. 1
6009645758. 2
6009645759. 3
6009645760. 4

Question Number : 90 Question Id : 6009641440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Hol\_ AN _NH,

I % mHcHo—> ERGE]

TNy N

NH5

1, Y qgaDIHR

2. XU I (TIUH 91G) TgadiHR
3,950 Il GGADIB]

4, VicRATO SgaihichRTT

Options :

6009645757. 1
6009645758. 2
6009645759. 3
6009645760. 4

Question Number : 91 Question Id : 6009641441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which is the most acidic hydrogen in the given compound A?

e

.'@':
e C=CH

1.a
2.b
3.¢
4.d

Options :

6009645761. 1
6009645762. 2
6009645763. 3
6009645764. 4

Question Number : 91 Question Id : 6009641441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



fodt T Tt A B Faffe sl grggion &2

|E’|}
0 C=CH
HOOC

2.b
3.C

4.d
Options :
6009645761. 1
6009645762. 2
6009645763. 3
6009645764. 4

Question Number : 92 Question Id : 6009641442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



For a chemical reaction 205(g)=30,(q); at equilibrium, 60% of ozone dissociated at pressure of 2
atm taken in 5 litre container. What is K, of reaction?

1.13.66
2.18.22
3.455
4.1.01
Options :
6009645765. 1
6009645766. 2

6009645767. 3
6009645768. 4

Question Number : 92 Question Id : 6009641442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TG A 204(g)230,() T T, T W 2 atm 2@ W 5 forex w1 & o T 3ATH, 60%
foatfora g1l &1 aififhan 1 k, Fa1 62

1.13.66
2.18.22
3.4.55

4.7.01

Options :

6009645765. 1
6009645766. 2
6009645767. 3



6009645768. 4

Question Number : 93 Question Id : 6009641443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the ratio of concentrated HCl and concentrated HNO; to prepare aqua- regia?

1. Conc. HCl ; Conc. HNO; 3 : 1
2.Conc. HCl : Conc. HNO; 13
3. Conc. HCl : Conc. HNO;5 2 1:1
4. Conc. HCI: Conc. HNO; 2 2: 1

Options :

6009645769. 1

6009645770. 2

6009645771. 3
6009645772. 4

Question Number : 93 Question Id : 6009641443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qa1 Xfor T & T W15 HC) T 91 HINO, T I T 7

1. W& HCl : ¥F% HNO3 = 31 1
28 HCl: W% HNO5 2 1: 3
3, 9% HCl: HI- HNO3 2 121
4, 3T HCl: I HNO5 2 221




Options :

6009645769. 1
6009645770. 2
6009645771. 3
6009645772. 4

Question Number : 94 Question Id : 6009641444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following has the ability to diffuse through glass or plastics?

1. Ne

2. He
3, Ar
4. Kr

Options :

6009645773. 1
6009645774. 2
6009645775. 3
6009645776. 4

Question Number : 94 Question Id : 6009641444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Ne

2. He

3. Ar

4. Kr
Options :
6009645773. 1
6009645774. 2

6009645775. 3
6009645776. 4

Question Number : 95 Question Id : 6009641445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How many sigma (o) and pi (rt) bonds are found in peroxodisulphuric acid?

l.o=11:n=4
20=9:m=4
30=8:m=4
do=11; =5
Options :
6009645777 1
6009645778. 2

6009645779. 3
6009645780. 4



Question Number : 95 Question Id : 6009641445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

R FSTSUHRD URTS H faraH R (o) 341 UG (o) SMa T S &7

lLo=11:1n=4
20=9:m=4
30=8: =4
do=11:m=5
Options :
6009645777. 1
6009645778. 2

6009645779. 3
6009645780. 4

Question Number : 96 Question Id : 6009641446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following can be used as antiseptic for wounds?

1. CHI;

2. CHCl;
3. 2-3% |, solution in alcohol-water
4. CHBry

=)

Options :

6009645781. 1
6009645782. 2
6009645783. 3



6009645784. 4

Question Number : 96 Question Id : 6009641446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g 7 2 ot g & forw ofeiet & & o v o e o Ol 67

1, CHI;
2. CHCl;
3, Ucdlgia-wid H 2-3% I, faerad
4. CHBr;

Options :

6009645781. 1
6009645782. 2
6009645783. 3
6009645784. 4

Question Number : 97 Question Id : 6009641447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select the correct order for the decreasing wavelength of absorption in the visible region for the
following complexes :

1. [Ni(NO,)¢]* > [Ni(CN),]*" > [Ni(NH;))** > [Ni(H,0),]**
2. [Ni(CN),]* > [Ni(H,0),]** > [Ni(NH,)]J** > [Ni(NO,)]*
3. [Ni(H,0)¢]** > [Ni(NH,),]** > [Ni(CN),]*" > [Ni(NO,)]*
4 [Ni(H,0)¢)" > [Ni(NHy)e]** > [Ni(NO,)e]*™ > [Ni(CN),]*



Options :

6009645785. 1
6009645786. 2
6009645787. 3
6009645788. 4

Question Number : 97 Question Id : 6009641447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[ Gl o fO1 23 & H Saieu] o ed aed & fe Hel W 9

1. [Ni(NO,),]* > [Ni(CN),J*~ > [Ni(NH,),]** > [Ni(H,0),]*
2. [Ni(CN),J* > [Ni(H,0) ] > [Ni(NH,)¢]** > [Ni(NO,),]*
3. [Ni(H,0)J** > [Ni(NH,)]** > [Ni(CN),J*~ > [Ni(NO,)]*

4. [Ni(H,0)]** > [Ni(NH,),]** > [Ni(NO,),]* > [Ni(CN),]*

Options :

6009645785. 1
6009645786. 2
6009645787. 3
6009645788. 4

Question Number : 98 Question Id : 6009641448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct option for the formula of plaster of paris.

1. CaS0,H,0
2.CaS0,.%:H,0
3, CaS04.2H0
4. CaS04.5H,0

Options :

6009645789. 1

6009645790. 2

6009645791. 3
6009645792. 4

Question Number : 98 Question Id : 6009641448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WRER 3 UNY o 9 & (o e [ddhed Y

1.CaS0,H,0
2.CaS0,.V5H,0
3,CaS0,.2H,0
4, CaS0,.5H;0

Options :

6009645789. 1
6009645790. 2
6009645791. 3
6009645792. 4



Question Number : 99 Question Id : 6009641449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select the correct option for the formula of washing soda

1.N&2CU}2HQO
E.NBEEO}SHEO
E.NBECO}SHEO
4, Na;C03.10H,0
Options :
6009645793. 1
6009645794. 2

6009645795. 3
6009645796. 4

Question Number : 99 Question Id : 6009641449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
¢ & s & T [ Tel faded i

1. Na;C03.2H;0
2. Na,C03.5H,0
3, Na,C03.8H,0
4, Na,C03.10H,0

Options :
6009645793. 1
6009645794. 2



6009645795. 3
6009645796. 4

Question Number : 100 Question Id : 6009641450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select the correct option for the formula of synthesis gas

1. 2C0(g) + 4N;(g)
2.C0(g) + Hylg)
3. HCl(g)
4.N,0(g)
Options :
6009645797. 1
6009645798. 2

6009645799. 3
6009645800. 4

Question Number : 100 Question Id : 6009641450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
RFARTG g @ ) % 1 R e e 9

1.2C0(g) + 4N,(g)
2.CO(g) + Halg)

3. HCl(g)
4.N>O(q)



Options :

6009645797. 1
6009645798. 2
6009645799. 3
6009645800. 4

Part C Biology
Section Id : 60096430
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 60096430
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 6009641451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following ancestors is most closely related to modern man?

1. Australopithecus

2. Homo habulis
3. Homo erectus
4. Homo naledi

Options :

6009645801. 1
6009645802. 2
6009645803. 3
6009645804. 4

Question Number : 101 Question Id : 6009641451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fmforfad 3 3 smyfe w7 & Taifle Fee [ oM &2

1. HRCAYHY

2. 5l gfefer

4 i Alcts!
Options :
6009645801. 1
6009645802. 2

6009645803. 3
6009645804. 4



Question Number : 102 Question Id : 6009641452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The bacteria present in the gut of several ruminant animals and also responsible for the production

of biogas are

1. Eubacteria

2. Heterotrophic bacteria
3. Archaebacteria

4, Cyanobacteria

Options :

6009645805. 1
6009645806. 2
6009645807. 3
6009645808. 4

Question Number : 102 Question Id : 6009641452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ST 1 3 ol STe e T gl AR GRS 1 it 1 U STl & vt et # +f g
B e

1. gaaeiRal
2. foeyast ifaroy
3, Tl

4 TR



Options :

6009645805. 1
6009645806. 2
6009645807. 3
6009645808. 4

Question Number : 103 Question Id : 6009641453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
A. Abscisic acid| 1. Induce parthenocarpy

B. Gibberellin | II. Delay senescence

C. Auxin lll. Regulates dormancy

D. Ethylene | IV. Promotes root growth

Choose the correct answer from the options given below

1. A-lll, B-ll, C-|, D~V

2. A-l, B, G-IV, D-lil

3. A-llI, B-II, C-IV, Dl

4. A-l, B-II, C-Il, DIV
Options :

6009645809. 1
6009645810. 2
6009645811. 3



6009645812. 4

Question Number : 103 Question Id : 6009641453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl-1 1 G-I & T e a1

- -1
A, UelTd 3 NGEIEGATE
B, fofa¥ferT Il eI H el

C. i |, Gl & F~a=avl
D. SUMfer ESEaL Featcs
fqu e fadeui # @ '\':I'b& I B G Y -

1. A-lll, Bl C-, DIV

2 A-ll, B, C-IV, Dl

3, A-Ill, B-Il, C-IV, D-|

4, A-), B-II, CHIl, D-IV

Options :

6009645809. 1
6009645810. 2
6009645811. 3
6009645812. 4

Question Number : 104 Question Id : 6009641454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consider the following components :
A. Cytochrome b

B. NAD

C. Cytochrome a

D. Cytochrome ¢

E. FAD

Choose the correct sequence of the arrangement of these components in electron transport system
from the options given below :

Options :

6009645813. 1
6009645814. 2
6009645815. 3
6009645816. 4

Question Number : 104 Question Id : 6009641454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

RfRed 9ol &1 9 d
A FECHI-b

B. NAD

C. -3

D. TIT-C

E. FAD

.B=E-A-D=C

2B-E-D-A=C

3B-E-A-C=-D

4B-E-C-D-=A
Options :

6009645813. 1
6009645814. 2
6009645815. 3
6009645816. 4

Question Number : 105 Question Id : 6009641455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following represents the characteristic phase of plant growth?

1. The cells become enlarged

2. The cells are rich in protoplasm and possess large conspicuous nuclei
3. New cell wall deposited
4. The cells attain their maximal size

Options :

6009645817. 1
6009645818. 2
6009645819. 3
6009645820. 4

Question Number : 105 Question Id : 6009641455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fgfafad & 8 $1H-8 oy gis 3 foysids! s B agl oI TgdH o7

1, PRI BT HHR T¢ o ¢

2 BIRIPIH o1d 500 $1 el a1 951 WY 5
3, T PITPT i P o
4, DIRIPIU 3G SIS HHR 76 Ugedl

Options :

6009645817. 1
6009645818. 2
6009645819. 3
6009645820. 4



Question Number : 106 Question Id : 6009641456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following are TRUE about allopatric speciation?

A. A new species evolved when one (or more) population of a species become separated from the
other populations of the species due to geographical barrier.

B. The initial stage of allopatric speciation is a polymorphism that does not depend on space within
a population.

C. As a result of natural selection, geographically separate populations become adapted to local
conditions and thus they become genetically differentiated.

D. Cessation of the gene flow between geographically isolated population leads over time to the
reproductive isolation.

E. Small groups of individuals break off from the larger group and form a new species.

Choose the correct answer from the options given below :

1.A Cand E only
2. Aand Conly

3. A, Band Conly
4. A, Cand D only

Options :



6009645821. 1
6009645822. 2
6009645823. 3
6009645824. 4

Question Number : 106 Question Id : 6009641456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



faeyiie Sfd-Fegd -

A U (31l ) arard ol venfa @ o e 3 ife st @ of gid €
T Uit &1 fbrg g gl

B. fqRIM® Wiid-3wa &I YR HoRI T STl ¢ ol G ail 3ag) & IR & RAH
EHERE

C. WHHad T & RO Hferd 0§ gy e R oFda TR it ¥ 8 gy
gl g1

D. HIvTfeib Gefaeb] b Tefd Wi SM1ETH-YeH §1% G Wil & duT 31 dil 7 H F1ed faa gl
el

E. il 1 BICT TG do WG & S gIdN T Wotlia 1 Fufon o ¢
SU T f[dded! H § et SR BT I ¢

1.®dd A CaUlE
2. Hdd AUl C
3. Haq A BAUIC

4. Had A, C AU D
Options :
6009645821. 1
6009645822, 2
6009645823. 3



6009645824. 4

Question Number : 107 Question Id : 6009641457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A vaccine produced by reducing the virulence of a pathogen under laboratory conditions so that it
can cause no or mild infection in a vaccinated person is known as

1. Inactivated vaccine
2, Attenuated vaccine
3. Subunit vaccine

4. Toxoid vaccine

Options :

6009645825. 1
6009645826. 2
6009645827. 3
6009645828. 4

Question Number : 107 Question Id : 6009641457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



U 1T BT TG, TV DI LA I FATRIT SHTRA § FHIG 6, b &1 T by o e
] TR TV 34 T T R A G bl oIl g, ¢

1, ffspa A
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3, JUMI Sl

4, ClauIZg Il

Options :

6009645825. 1
6009645826. 2
6009645827. 3
6009645828. 4

Question Number : 108 Question Id : 6009641458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : In glycolysis, the conversion of 1, 3-bisphosphoglyceric acid to 3-phosphoglyceric acid
and conversion of phosphoenolpyruvate to pyruvic acid are energy-yielding processes.

Statement Il : In glycolysis, the conversion of fructose-6-phosphate to fructose-1, 6-bisphosphate
and conversion of PGAL to 1, 3-bisphosphoglycerate are energy-yielding processes.

In the light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement [l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

6009645829. 1
6009645830. 2
6009645831. 3
6009645832. 4

Question Number : 108 Question Id : 6009641458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645829. 1
6009645830. 2
6009645831. 3
6009645832. 4

Question Number : 109 Question Id : 6009641459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List I
A. Aloe |. Brassicaceae
B. Cotton Il Solanaceae
C. Tomato lIl. Liliaceae
D. Mustard V. Malvaceae

Choose the correct answer from the options given below :

1. A-IV, B, C-I, D-lll
2. A-lll, B, C-IV, DI
3. A-lll, B-IV, C-II, D
4. A=V, B-Ill, C, Dl

Options :

6009645833. 1
6009645834. 2
6009645835. 3
6009645836. 4

Question Number : 109 Question Id : 6009641459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-IV, B-I, C-lI, D-lI
2. A-lll, B, CHV, DHI
3. A-IlI, B-IV, C-II, D-l
4. A-IV, B-Ill, -, DI

Options :

6009645833. 1
6009645834. 2
6009645835. 3
6009645836. 4

Question Number : 110 Question Id : 6009641460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which cof the following are true for an ecosystem?

A The population of primary producers is larger than the primary consumers

C The population of primary consumers is larger than the secondary consumers
D.  The population of primary consumers is lesser than the secondary consumers
Choose the correct answer from the options given below :

f

B. The population of primary producers is lesser than the primary consumers
f
f

1. Aand B only
2.Aand Conly
3.A Band Conly
4. A, Cand D only

Options :

6009645837. 1
6009645838. 2
6009645839. 3
6009645840. 4

Question Number : 110 Question Id : 6009641460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. $dq ATUIB
2. had AU C
3, Haq A, BT C
4. Haq A, CTUID

Options :

6009645837. 1
6009645838. 2
6009645839. 3
6009645840. 4

Question Number : 111 Question Id : 6009641461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



CO, combines with ribulose-1, 5-bisphosphate during carboxylation. Carbohydrate is formed at the
expense of the photochemically made ATP and forms NADPH and CO, acceptor ribulose-1, 5-
bisphosphate. All these events take place in

1. Calvin cycle

2. Hatch & Slack pathway
3. Citric acid cycle

4. Krebs cycle

Options :

6009645841. 1
6009645842. 2
6009645843. 3
6009645844. 4

Question Number : 111 Question Id : 6009641461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
6009645841. 1



6009645842. 2
6009645843. 3
6009645844. 4

Question Number : 112 Question Id : 6009641462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Sorghum and maize plants show better productivity and tolerance to higher temperature due to
presence of a mechanism, which

1. binds O; to RuBisCO decreases CO, fixation

2. increases the concentration of CO; at the enzyme site
3. binds CO; to RuBisCO decreases O; fixation

4. Increases competency

Options :

6009645845. 1
6009645846. 2
6009645847. 3
6009645848. 4

Question Number : 112 Question Id : 6009641462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645845. 1
6009645846. 2
6009645847. 3
6009645848. 4

Question Number : 113 Question Id : 6009641463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : In sexually dimorphic species, the males are often larger, stronger, more brightly
colored and more aggressive.

Statement Il : Increased size, conspicuous ornamentation and aggressiveness in male are the result
of sexual selection.

In the light of the above statements, choose the most appropriate answer from the options given
below :

1. Both Statement | and Statement [l are true
2. Both Statement | and Statement Il are false

3, Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

6009645849. 1
6009645850. 2
6009645851. 3
6009645852. 4

Question Number : 113 Question Id : 6009641463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645849. 1
6009645850. 2
6009645851. 3
6009645852. 4

Question Number : 114 Question Id : 6009641464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following conditions occurs in our body, if the neural systems of medulla and pons
region are non-functional?

1. Impulses from tissue to the central nervous system cannot be transmitted
2. Changes in CO and H™ concentration cannot be recognized
3. Neural signals can reduce the duration of respiration
4. Respiratory rhythm cannot be maintained by the respiratory centre
Options :
6009645853, 1
6009645854, 2

6009645855. 3
6009645856. 4

Question Number : 114 Question Id : 6009641464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
PR & & i oraen wwi qur 3g8a & dfeT da & Feid 8 w e wliv et gidi &
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4, 358 &% g1 45 9 OR8] T8 TIU

Options :

6009645853. 1
6009645854. 2
6009645855. 3



6009645856. 4

Question Number : 115 Question Id : 6009641465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The process by which water is absorbed by colloids causing them to increase in volume is

1. Plasmolysis

2. Diffusion

3. Osmosis

4. Imbibition
Options :
6009645857. 1
6009645858. 2

6009645859. 3
6009645860. 4

Question Number : 115 Question Id : 6009641465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :




6009645857. 1
6009645858. 2
6009645859. 3
6009645860. 4

Question Number : 116 Question Id : 6009641466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fatty acids are absorbed into the blood stream through which of the following mechanisms?

1. Incorporated into small micelles, move into the intestinal muscularis, reformed into small protein
in the lymph vessels

2. Incorporated into small micelles, move into the intestinal submucosa, reformed into small protein
in the lymph vessels

3. Incorporated into small micelles, move into the intestinal lumen, reformed into small protein in
the lymph vessels

4. Incorporated into small micelles, move into the intestinal mucosa, reformed into very small
protein-coated chylomicrons, transported into the lymph vessels

Options :

6009645861. 1
6009645862. 2
6009645863. 3
6009645864. 4

Question Number : 116 Question Id : 6009641466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645861. 1
6009645862. 2
6009645863. 3
6009645864. 4

Question Number : 117 Question Id : 6009641467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
A. Law of dominance | Dihybrid cross
B. ABO blood grouping Il Multiple alleles
C. Law of segregation lIl. Monohybrid cross
D. Law of independent assortment | IV. Controlled by factors

Choose the correct answer from the options given below :

1. A-IV, B, C-lI, DI

2. A-IV, B, C-III, D-II

3. A-Ill, B-Il, C-IV, DI

4. A, B-Il, G-Il DIV
Options :

6009645865. 1
6009645866. 2
6009645867. 3
6009645868. 4

Question Number : 117 Question Id : 6009641467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-IV, B-l, C-I, DIl
2. A-IV, B-I, C-lil, DI
3. A-Ill, B~Il, C-IV, D-l
4. A-l, B-ll, CHIl, DIV

Options :

6009645865. 1
6009645866. 2
6009645867. 3
6009645868. 4

Question Number : 118 Question Id : 6009641468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List I with List Il :

List | List I

A. T.W.Engelmann | |. Essential role of air in the growth of green plants

Il. Green substances in the plants are located in special bodies within plant

B. Joseph Priestley el

C. Juli Sach
OO 11 Photosynthesis is essentially a light dependent reaction

D. Cornelius Niel V. llluminated Cladophora

Choose the correct answer from the options given below :

1. A=IV, B, C-Il, DIl
2. A-lll, B-1, C-IV, DI
3. A-llI, B-ll, C-IV, DI
4, A, B-Il, G-I D=V

Options :

6009645869. 1
6009645870. 2
6009645871. 3
6009645872. 4

Question Number : 118 Question Id : 6009641468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A=V, B-1, C-II, DI
2 A-lll, B-I, C-IV, DI
3, A-lll, B-Il, C-IV, D-|
4, A-l, B, C-IIl, D-IV
Options :

6009645869. 1
6009645870. 2
6009645871. 3
6009645872. 4

Question Number : 119 Question Id : 6009641469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
A. Distal convoluted tubule |. Maintaining the pH & ionic balance of the body fluid
B. Collecting duct Il. Maintenance of high osmolarity of medullary intestinal fluids
C. Henle’s loop IIl. Reabsorption of HCO;
D. Proximal convoluted tubule | IV. Maintenance of pH & ionic balance of blood

Choose the correct answer from the options given below :

1. A-IV, B-l, C-II, DIl

2. Al B-lI, C-IV, D

3. A-Ill, B-IV, C-lI, Dl

4. A-IV, B-II, C-llI, D-
Options :

6009645873. 1
6009645874. 2
6009645875. 3
6009645876. 4

Question Number : 119 Question Id : 6009641469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-IV, B, C-II, D-1I

2. A, B-II, G-IV, D

3, A-lIl, B-IV, C-II, DI

4, AV, B-l, C-1II, D

Options :

6009645873. 1
6009645874. 2
6009645875. 3
6009645876. 4

Question Number : 120 Question Id : 6009641470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Hormones secreted by kidney and gastrointestinal tract are

A Erythropoietin

B. Insulin like growth factors
C Secretin

D. Renin

E.

Angiotensinogen
Choose the correct answer from the options given below :

1.A, Cand D only
2.8, Cand D only
3. D and E only
4. A and E only

Options :

6009645877. 1
6009645878. 2
6009645879. 3
6009645880. 4

Question Number : 120 Question Id : 6009641470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645877. 1
6009645878. 2
6009645879. 3
6009645880. 4

Question Number : 121 Question Id : 6009641471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consider the following hydrarch succession :

Sedges
Phytoplankton
Trees

Grasses

m O o m =

Rooted hydrophytes
Choose the correct sequence of primary succession in water from the options given below :

.B=E-A-C=D

2B-E-D=-A=C

3B-E-A-D-=C

4B-E-C-D=-A
Options :

6009645881. 1
6009645882. 2
6009645883. 3
6009645884. 4

Question Number : 121 Question Id : 6009641471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



ﬁﬂﬁﬂﬂﬂﬂ$$ﬁﬁ:

A Rac
B TGU Wdd
C U
D. UM

E O dTd oy aiy

T ¥ STy SR o (o0 Wt fddhed &1 9 @
1.B=E-A-C-D
2B-E-D-A-C
3B-E-A-D=C
4B-E-C-D=-A
Options :

6009645881. 1
6009645882. 2
6009645883. 3
6009645884. 4

Question Number : 122 Question Id : 6009641472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In the process of translation, genetic information is transferred from a polymer of nucleotides to a

polymer of amino acids. Met-Ala-Gly-Phe-Pro is the sequence of amino acids coded by an mRNA.
Predict the nucleotide sequence in the RNA.

AUG GCU CAU UUU CCC
AUG GCU GGC UUU CCC
AUG GGC UUU CAU UGU
AUG GCG GGG UUC CCG
AUG GCG AUU ACA CCG

Choose the correct answer from the options given below :

m O M o =

1. Aonly
2.Band D only
3. DandE only
4. B only

Options :

6009645885. 1
6009645886. 2
6009645887. 3
6009645888. 4

Question Number : 122 Question Id : 6009641472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



ST #, A e T SR fdciafierss & dgad 4 sl ol & Sgad a gidl ol
Met-Ala-Gly-Phe-Pro 3! 3l &1 4 g, off U mRNA GRT BIS o T g1 RNA & fdaiierss
b 1 Tl T

A, AUG GCU CAU UUU CCC
B. AUG GCU GGC UUU CCC
C.  AUG GGC UUU CAU UGU
D. AUG GCG GGG UUC CCG

E. AUG GCG AUU ACA CCG
fou U faaeut # B et G &1 9 3K

1. Hdd A

2. $dd B qUI D

3, Haq D qulE

4, el B
Options :
6009645885. 1
6009645886. 2

6009645887. 3
6009645888. 4

Question Number : 123 Question Id : 6009641473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A person was admitted to the hospital with high fever and shivering at reqular intervals. He was
diagnosed later with Plasmodium vivax infection. Which one of the following stages of parasite’s life
cycle is the most likely cause of the fever and shivering?

1. Release of merozoites from the liver cells

2. Formation of the signet ring in the RBC

3. Release of merozoites and hemozoin from the RBC
4. Entry of sporozoites in the blood circulation

Options :

6009645889. 1
6009645890. 2
6009645891. 3
6009645892. 4

Question Number : 123 Question Id : 6009641473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645889. 1
6009645890. 2
6009645891. 3
6009645892. 4

Question Number : 124 Question Id : 6009641474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In transpiration, the opening and closing of the stomata is aided by a change in the turgidity of the
quard cells. Which of the following changes occurs in stomata during daytime?

A Two quard cells flank each stomatal pore when turgidity increases, the thin outer walls bulge out
& force the inner walls

B. The elastic inner walls of stomatal pore regain their shape

C. Cellulose microfibrils of the quard cells orient radially rather than longitudinally

D. The guard cells lose turgor

E. Two quard cells flank each stomatal pore when turgidity decreases

Choose the correct answer from the options given below :

1.Aonly
2.Band Conly
3. Eonly

4. Aand Conly

Options :
6009645893. 1
6009645894. 2



6009645895. 3
6009645896. 4

Question Number : 124 Question Id : 6009641474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :



6009645893. 1
6009645894. 2
6009645895. 3
6009645896. 4

Question Number : 125 Question Id : 6009641475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If for some reason our goblet cells are non-functional, this will adversely affect

1. Secretion of sebum from the sebaceous glands

2. Maturation of sperms
3. Production of somatostatin
4. Smooth movement of food down the intestine

Options :

6009645897. 1
6009645898. 2
6009645899. 3
6009645900. 4

Question Number : 125 Question Id : 6009641475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645897. 1
6009645898. 2
6009645899. 3
6009645900. 4

Question Number : 126 Question Id : 6009641476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Miller and Urey, in 1953 conducted an experiment to test the ‘chemical origin of life’. What were the
compounds they had taken in the closed flask?

1.CHy, Hy, NH3 and H,0

2, CHq, HQD, Hg and Ng

3. CH,, HE, NH; and COg

4, {:H_qj Hgor HN03 and 1:02
Options :
6009645901. 1
6009645902. 2

6009645903. 3
6009645904. 4



Question Number : 126 Question Id : 6009641476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fOveRR T 9 4 1953 H WalTaIren § TS Sgd R 1 die &g Fy venl o1 ¢ wr | fomn
q:

1.CHy, Hy, NH;, H,0
2. CHy, H,0, Hy, N,

3, CHy, Hy, NH3, €O,

4, CH,, H,0, HNO;, €O,

Options :

6009645901. 1
6009645902. 2
6009645903. 3
6009645904. 4

Question Number : 127 Question Id : 6009641477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il ;

List | List Il
A. Expiratory capacity . TV+RV
B. Vital capacity Il. ERV+TV+RRV
C. Inspiratory capacity IIl. TV+ERV
D. Functional residual capacity | IV. ERV+RV

Choose the correct answer from the options given below :

1. A-IV, B-I, C-I, DIl
2. A-1l, B, G-V, D-lil
3. A-1Il, B-II, C-I, D-IV
4, A-1, B-II, CHII, D-IV

Options :

6009645905. 1
6009645906. 2
6009645907. 3
6009645908. 4

Question Number : 127 Question Id : 6009641477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A. 9 g LTV + RV

B, Siael IILERV + TV + IRV
C. 340 &l LTV + ERV

D. BIUIEH 3GL &l V. ERV + RV

fou o fadedl ¥ 4 e IR P 99

1. A-IV, B-ll, C-I, D-III
2. A-ll, B+, GV, D-lil
3. A-Ill, Bl C-, D-IV
4. A-l, B-II, C-ll, DIV

Options :

6009645905. 1
6009645906. 2
6009645907. 3
6009645908. 4

Question Number : 128 Question Id : 6009641478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following organisms can break down rocks to release minerals, can fix nitrogen and are
excellent indicators of pollution?

1. Lichens
2. Viroids
3. Prions
4, Sponges

Options :

60096459009. 1
6009645910. 2
6009645911. 3
6009645912. 4

Question Number : 128 Question Id : 6009641478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. g

) y

3. W13+

4, W
Options :

60096459009. 1
6009645910. 2



6009645911. 3
6009645912. 4

Question Number : 129 Question Id : 6009641479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Enzymes enhance the rate of a chemical reaction by

1. forming a reactant-product complex

2. changing the equilibrium point of the reaction
3. lowering the activation energy of the reaction
4. combining with the products as soon as it is formed

Options :

6009645913. 1
6009645914. 2
6009645915. 3
6009645916. 4

Question Number : 129 Question Id : 6009641479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645913. 1
6009645914. 2
6009645915. 3
6009645916. 4

Question Number : 130 Question Id : 6009641480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il

A. Tetany |. Decreased levels of estrogen

B. Muscular dystroph
scular dystropny Il. Autoimmune disorder

C. Myasthenia lIl. Genetic disorder

D. Osteoporosis V. Rapid spasms in muscle

Choose the correct answer from the options given below :

1. A=IV, B-ll, C-1, DIl

2. A-IV, B-llI, C-II, D

3. A-llI, B-I, C-I, D-IV

4. A1, B-lI, C-lIl, D-IV
Options :

6009645917. 1
6009645918. 2



6009645919. 3
6009645920. 4

Question Number : 130 Question Id : 6009641480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-1 1 G-I & T e e
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1. A=V, B-II, C-|, -l
2. A-IV, B-Il, C-II, D
3. A-lll, B-II, C, D-IV
4. A, B-II, G-I D-IV
Options :

6009645917. 1
6009645918. 2
6009645919. 3
6009645920. 4

Question Number : 131 Question Id : 6009641481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

Metameric segmentation is found in

1. Ascaris

2. Wuchereria
3. Pheretima
4, Trichinella

Options :

6009645921. 1
6009645922. 2
6009645923. 3
6009645924. 4

Question Number : 131 Question Id : 6009641481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645921. 1
6009645922. 2
6009645923. 3
6009645924. 4



Question Number : 132 Question Id : 6009641482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

DNA synthesis is followed by a sequence of events during mitosis. Which of the following sequences
Is correct?

1. M phase, G, and G:
2. G, M phase and G:
3. G4, M phase and G,
4. Gy, Gy and M phase

Options :

6009645925. 1
6009645926. 2
6009645927. 3
6009645928. 4

Question Number : 132 Question Id : 6009641482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

DNA QN1 & TURId Geft o a1 chmrer: o wfshaait o s gl @

1. M 3G, G, 31 G,
2. Gy, M 3@ 31 G
3, G, M 3faRI A G,
4, Gy, G, T M 3@

Options :



6009645925. 1
6009645926. 2
6009645927. 3
6009645928. 4

Question Number : 133 Question Id : 6009641483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Phenylketonuria affected individual lacks an enzyme that converts the amino acid phenylalanine into
tyrosine. Phenylalanine is accumulated and converted into phenylpyruvic acid and other derivatives.
Accumulation of these in brain results in mental retardation. Phenylketonuria is a/an

1. Sex-linked dominant disease
2. Autosomal dominant disease
3. Sex-linked recessive disease

4. Autosomal recessive disease

Options :

6009645929. 1
6009645930. 2
6009645931. 3
6009645932. 4

Question Number : 133 Question Id : 6009641483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645929. 1
6009645930. 2
6009645931. 3
6009645932. 4

Question Number : 134 Question Id : 6009641484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Extra-nuclear inheritance is a form of non-Mendelian inheritance in which a trait is transmitted from
the parent to offspring through non-chromosomal, cytoplasmic means. Through which of the
following ways this phenomenon occurs?

1. Intracellular parasites residing as endosymbionts

2. Organelles that contain their own DNA

3. mRNA transcripts and proteins present in the cytoplasm
4. All of the above



Options :

6009645933. 1
6009645934. 2
6009645935. 3
6009645936. 4

Question Number : 134 Question Id : 6009641484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645933. 1
6009645934. 2
6009645935. 3
6009645936. 4

Question Number : 135 Question Id : 6009641485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In an experiment, Streptococcus pneumonia bacteria are grown on a culture plate in order to infect
mice, in which some produce smooth shiny colonies other produces rough colonies. Later, the mice
infected with the smooth strain die from infection but infected with the rough strain of bacteria
don't develop infection. Which of the following has given the conclusion of this experiment?

1. Transforming principle - Frederick Griffith

2. Transforming principle - Hershey & Chase

3. Bacteriophage principle - Franklin

4. Biochemical characterization - Avery & MacLeod

Options :

6009645937. 1
6009645938. 2
6009645939. 3
6009645940. 4

Question Number : 135 Question Id : 6009641485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645937. 1
6009645938. 2
6009645939. 3
6009645940. 4

Question Number : 136 Question Id : 6009641486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct sequence of spermatogenetic stages leading to the formation of sperms in a mature
human testis is

1. spermatogonia - spermatocyte - spermatid - sperms
2. spermatid - spermatocyte - spermatogonia - sperms
3. spermatogonia - spermatid - spermatocyte - sperms
4. spermatocyte - spermatogonia - spermatid - sperms

Options :

6009645941. 1
6009645942. 2
6009645943. 3
6009645944. 4

Question Number : 136 Question Id : 6009641486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645941. 1
6009645942. 2
6009645943. 3
6009645944. 4

Question Number : 137 Question Id : 6009641487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consider the following taxonomic categories :

Phylum

Order

Kingdom

Class

Species

Choose the correct sequence of taxonomic categories in ascending order from the options given

m O M o= =

below :

1.E-B-D-A=-C

2E-D-B-A=C
3B-C-E-A-D
4B-E-C-D=A
Options :

6009645945. 1
6009645946. 2
6009645947. 3
6009645948. 4

Question Number : 137 Question Id : 6009641487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645945. 1
6009645946. 2
6009645947. 3
6009645948. 4

Question Number : 138 Question Id : 6009641488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
A. Theory of use and disuse of organ . Charles Darwin
B. Theory of pangenesis Il Jean-Baptiste Lamarck
C. Mutation theory lll. Motoo Kimura
D. Neutral theory of molecular evolution IV. Hugo de Vries

Choose the correct answer from the options given below :

1, A-Il, B, C-IV, DIl

2. A-ll, B-Ill, C-IV, D-

3. A-IV, B-ll, C-II, D

4. A-lll, B, C-IV, D-I
Options :

6009645949. 1
6009645950. 2
6009645951. 3
6009645952. 4

Question Number : 138 Question Id : 6009641488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-ll, B-I, C-IV, D-1lI
2. A-ll, B-lll, G-IV, Dl
3. A=V, B-lll, C-II, D-I
4. A-lll, B, GV, D-I

Options :

6009645949. 1
6009645950. 2
6009645951. 3
6009645952. 4

Question Number : 139 Question Id : 6009641489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Among the following, which one provides the best overall picture of the functional nature of
community to an ecologist?

1. Food web
2. Pyramid of energy
3. Pyramid of number
4. Pyramid of biomass
Options :
6009645953. 1
6009645954. 2

6009645955. 3
6009645956. 4

Question Number : 139 Question Id : 6009641489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645953. 1
6009645954. 2
6009645955. 3



6009645956. 4

Question Number : 140 Question Id : 6009641490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A forensic officer obtained very small amount of DNA sample from a crime scene. In order to
examine the sample by DNA fingerprint, he must first amplify the DNA sample. Which of the
following techniques he would use to amplify the sample?

1. Recombinant DNA technology
2. DNA polymerase chain reaction
3. DNA sequencing

4. Genetic engineering

Options :

6009645957. 1
6009645958. 2
6009645959. 3
6009645960. 4

Question Number : 140 Question Id : 6009641490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
6009645957. 1
6009645958. 2

6009645959. 3
6009645960. 4

Question Number : 141 Question Id : 6009641491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Under laboratory conditions, chromosomal abnormalities can be detected from a specimen by
processing a karyotype analysis in which dividing cells are arrested after a period of cell growth at
by addition of :

1. anaphase, fluorescent
2. telophase, peroxidase
3. metaphase, colchicine
4. anaphase, colchicine

Options :
6009645961. 1



6009645962. 2
6009645963. 3
6009645964. 4

Question Number : 141 Question Id : 6009641491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645961. 1
6009645962. 2
6009645963. 3
6009645964. 4

Question Number : 142 Question Id : 6009641492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Following clinical application was given for the first time in 1990 to a 4-year-old girl with adenosine
deaminase deficiency and this enzyme is involved in

1. DNA cloning and lymphocyte metabolism
2. gene therapy and monocyte metabolism
3. gene therapy and purine metabolism

4. gene therapy and pyrimidine metabolism
Options :
6009645965. 1
6009645966. 2

6009645967. 3
6009645968. 4

Question Number : 142 Question Id : 6009641492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645965. 1
6009645966. 2



6009645967. 3
6009645968. 4

Question Number : 143 Question Id : 6009641493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Repeated use of the same class of insecticides to manage an insect pest can cause detrimental
changes in the gene pool of a pest leading to the development of resistance in the insect is an
example of

1. normalizing selection
2. directional selection
3. diversifying selection

4. sexual selection

Options :

6009645969. 1
6009645970. 2
6009645971. 3
6009645972. 4

Question Number : 143 Question Id : 6009641493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645969. 1
6009645970. 2
6009645971. 3
6009645972. 4

Question Number : 144 Question Id : 6009641494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consider the following horses :
A. Mesohippus

B. Hyracotherium

C.  Pliohippus

D. Merychippus

E.  Equus

Choose the correct sequence of the evolution of horse from the options given below

1.A=-E=B=-D=C
2A-B-D-C-E
36-A-D-C~E
4B-E-C-D-A
Options :
6009645973. 1
6009645974. 2

6009645975. 3
6009645976. 4

Question Number : 144 Question Id : 6009641494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.A-E-B=-D=C
2A-B-D-C=-E
3B-A-D-C~E
4B-E-C-D=-A

Options :

6009645973. 1
6009645974. 2
6009645975. 3
6009645976. 4

Question Number : 145 Question Id : 6009641495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : The main plant body of angiosperms is a sporophyte and the male and female
gametophytes are represented by pollen grains and embryo sac respectively.

Statement |l : In angiosperms, the ovules and anthers represent the gametophytes whereas the
other parts of plant represent the sporophyte.

In the light of the above statements, choose the most appropriate answer from the options given
below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement I is false

4, Statement | is false but Statement Il is true

Options :

6009645977. 1
6009645978. 2
6009645979. 3
6009645980. 4

Question Number : 145 Question Id : 6009641495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645977. 1
6009645978. 2
6009645979. 3
6009645980. 4

Question Number : 146 Question Id : 6009641496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Exotic species :

A These are new species entering a geographical area.

B. They may cause the disappearance of the native species.

C They have huge impact in the world's highly threatened island ecosystem.
D. They are considered as the major cause of the extinction of the species.
Choose the correct answer from the options given below :

1.Aand B only
2. Aand Conly
3.A, Band Conly
4. A, Cand D only

Options :

6009645981. 1
6009645982. 2
6009645983. 3
6009645984. 4

Question Number : 146 Question Id : 6009641496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645981. 1
6009645982. 2
6009645983. 3
6009645984. 4

==

Question Number : 147 Question Id : 6009641497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : Bacillus thuringiensis forms protein crystals contain a toxic that kills certain insects but
not Bacillus because Bt toxin protein exists as inactive protoxins in Bacillus.

Statement Il : Bacillus thuringiensts forms protein crystals contain a toxic that kills certain insects but
not Bactllus because toxin requires alkaline pH available in the gut of insects and which solubilises
the crystals in order to convert into an active form,

In the light of the above statements, choose the most appropriate answer from the options given
below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, Statement | is false but Statement Il is true

Options :

6009645985. 1
6009645986. 2
6009645987. 3
6009645988. 4

Question Number : 147 Question Id : 6009641497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645985. 1
6009645986. 2
6009645987. 3
6009645988. 4

Question Number : 148 Question Id : 6009641498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement | : After mating, queen bee produces both fertilized and unfertilized eggs.

Statement Il : Fertilized eggs produce queen and drones whereas unfertilized eggs produce the
workers.

In the light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

6009645989. 1
6009645990. 2
6009645991. 3
6009645992. 4

Question Number : 148 Question Id : 6009641498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009645989. 1
6009645990. 2
6009645991. 3
6009645992. 4

Question Number : 149 Question Id : 6009641499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
A. Turner's syndrome . Recessive gene
B. Hemophilia II. Addition of X chromosome (XXY)
C. Down syndrome Il Lack of X chromosome (XO)
D. Klinefelter's syndrome V. Trisomy of a chromosome

Choose the correct answer from the options given below :

1. A-IV, B-I, C-lI, D-lI
2. A=l B-lil, G-IV, D
3. A=IV, B-llI, C-II, D-l
4. A-ll, B, GV, D-I

Options :

6009645993. 1
6009645994. 2
6009645995. 3
6009645996. 4

Question Number : 149 Question Id : 6009641499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-IV, B-I, C-I, D1l

2. Al B-lIL, C-IV, D

3, A-IV, B-ll, C-1l, D-|

4. A-Il, B-I, C-IV, D-I

Options :

6009645993. 1
6009645994. 2
6009645995. 3
6009645996. 4

Question Number : 150 Question Id : 6009641500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A health worker uses which one of the following techniques for the qualitative detection of nucleic
acid from the SARS-CoV-2 in the oropharyngeal swabs collected from the individuals of suspected
COVID-197

1. ELISA

2. RT-PCR

3. Southern blotting

4. Western blotting
Options :
6009645997. 1
6009645998 2

6009645999. 3
6009646000. 4

Question Number : 150 Question Id : 6009641500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :




6009645997. 1
6009645998. 2
6009645999. 3
6009646000. 4



